Service -Anleitung ,
Service Manual CS 741 C

Instructions de Service

Blockschaltbild ME 930 G Block circuit diagram ME 930 O Schéma de bloc ME 830 Q
Motor Motar Treiber Sample- und Hold Schattung Digital-Analog- Wandler
Motor Motor driver Cuour de contstrm paemisa |® S oo qonvarter
‘Momt Moteur driver o ire Convertisseur digital-analogique
]
Generator
Gansrator
Ganarateur

I Verstirker Frequanzvergleicher
Amplifier W Schmint-Trigger = Frog; y . -
o h

Amplificateur

gu:‘_:zcmdl!;t?r rl..lrn sdalthar:r 'Tf"w Tefle Phasenvergleicher
uartz oszillator - sl ' Divider 1:256 Phase comp -
Oseillataur A quartz ??ggr!w;uﬂggb te Drivisour Comparateur de phasa

[
Drehzahlumschatter Teiter Konstantstromquetle LED Stroboskop
Speed selector s Divider  1:612 ¥ Constant current source w1 LED Strobe
Commutatesr de vitesse Divisour Source di courant constante Stroboscope LED

—

Anzeige: Quanz, Pitch, Drehzahi Treibar 13 Digit-Skala Kaskadenschalter Pitch-Schalter Pi““'“ﬁmt
B el el e bl e el S o
L |
INHALT CONTENTS SOMMAIRE
Seite/Page
2 Technische Daten Technical data Caractéristiques techniques
2 . TA-AnschiuBschema Pick up connection diagram Schéma de branchement
3 Funktionsheschreibung )
4 Functional description
6 Description du fonctionnement
8 Verdrahtungsplan Wiring schema Schéma de céble
9 Abgleichanleitung Alignment Instructions Instructions d‘ajustage
10 IC-Blockdiagramm IC-bloc diagram Schéma de bloc IC
11/12 Schaltbild Wiring diagram Schéma de électrique
13/14 Printplatten Printed circuit boards Plaques de inscription
15 - 18 Mechanischer Teil Mechanical Part Partie méchanique
19— 22 - Ersatzteile Replacement Pidces détachées
21 Explosionszeichnung mit Exploded view with Piéces détachées
Schmieranweisung lubricating instructions et lubrification

Dual Gebriider Steidinger - 7742 St. Georgen/Schwarzwald |


klepaczewski

klepaczewski


Technische Daten

Meflwerte = typische Werte
pRumpel- und Gleichlaufwerte mit
Lackfolie ermittelt

Technical data

Measured values = typical vaiues
Rumble and wow and flutter values
obtained with lacquer foil

Caractéristiques techniques

Valeurs mesurées = valeurs typiques
Aonflement et syncronisme daterming
avec une feuitle vernie

Stromart Current type Courant
Wechselstrom Alternating current Courant alternatif 50 — 60 Hz
Netzzpannungen Mains voltages Tensions sectour 110 = 125 Vorlt
220 — 240 Valt

Antrisb Crive Entrainement
quarzstabitisiertes elektronisch quariz stabilized electronic direct- Systéme d'entrainement direct ¢ come

egeltes Direkt-Antriebssystem drive system mande électionigue, stabfisée par quanz | EDS 930
Leistungssufnshme Power consumption Consommation ca, 6,5 Watt
Motor bei Spielbetrich motor during playing Moteur pendant la tecture <50 mW
Stromayfnashme Power consumption Consommation de courant
an 230 vV 50 Hz: on 230 V 50 Hz: en 230 VEO Hz:
bei Anlauf at start au démarrage 80 ma,
bei Spielbetrieb at play en fonctionnement ca. 30 mA
an 115 V 60 Hz: on 115 V 60 Hz: en 115 V 60 Mz:
bei Anlauf at start au démarrage 160 mA,
bei Spielbetrieb at play en fonctionnement ca. B0 mA
Anlaufait Starting time Temps de chauvifage
{bis zum Erreichen der Nenndrehzahl) | {until the rated speed is attained) (pour atteindre Ia vitesse nominale}
bel 33 1/3 U/min at 33 rpm 4 33 tr/mn 1—15s

Plattonteller
nichtmagnetisch, abnebmbar

Platter
non-magnetic, removabie

Platoau
antimagnetique, amovible

145 kg. 312 mm ¢

|Mattenteller-Drehzabien slektronisch
umschaltbar, quarzstabilisiert

Plattar speeds switched over electroni-

cally, quartz stabilized

Vitesses du piateau commutation élec-
tronique stabilisée par quariz

33 1/3, 45 U/min

Tonhbhen-Abstimmung Pitch control Réglage da ta hautsur du son

mit Dreh-Widerstand einstellbar, adjustable with variable resistor réglage avec résistance rotative

Regetbereich Range of regulation Plage de régtage 12 %
Drehzshlkontrolle Speed control Contrdle de s vitesse .

Leuchtstrobaskop und apto-elektro- llluminated stroboscope and opto- Stroboscope lumingux et affichage

nische Analoganzeige electronic function indicator opto-electranique

Gesamtgleichlauffehlor Wow and flutter Tolérance de vitesse totale

DIN OIN DIN 0025 4%
WRMS WRMS WRMS 20015%
Stérspannungsabstand Signal-ta-noise ratio Rapport signal/bruit

inach DIN 45 500 (in accardance with DIN 45 500} {suivant DIN 45 500)
Rumpe!-Fremdspannungsabstand Rumble umweighted signal-to-noise ratio Signalftensionextérieure de ronflement | 56 d8
Rumpel-Gerjuschspannungsabstand Rumble weighted signal-to-noise ratio Signalftension perturbatrice de ronfement 80 dB
Tonsrm Tonearm Bras de lecture

verwindungssteifer, iberlanger Distortion-free “ultra-low-mass”, alu. | Bras de superlong en tube d'aly-

Alu-Rahrtonarm in kardanischer minum tubular tonearm in gimbal minium, antitorsion, avec suspension
Vierpunkt-Spitzenlagerung 4 point tip hearing cardanique A quatre pointes

Wirksame Tonarmlinge Effective tonearm length Longueur efficace du bras 221 mm
Kedpfungswinkel Offset angle Angle de couda 24° 30°
Tangentislar Spurfehlwinkel Tangential tracking error Angle d erreur de piste tangential 0,15%¢m

Tonarm-Lagerreibung
{bezogen auf die Abtastspitze)

Torwarm bearing friction
{referred 1o stylus tip)

Frottement de la suspension du bras
{rapporté 4 la pointe de lecture)

Auflagekraft

won 0 — 20 mN (0 — 2 p} stufenios
regelbar mit 1 mN (0,1 p)} Kafi-
brierung im Bereich von 2 — 15 mN

Stylus pressure

Infinitely variable from O to 20 mN
{0 — 2 g). with 1 mN (0.1 g} calibra-
tion in the range from 2 10 15 mN

Force d'sppui

Réglage continu de 0 a 20 mM

{0 — 2 g, graduations de 1 miN

{0.1 g} dans la gamme de 2 — 15 mN

0.07 mN (0,007 p)

siehe separates Datenblatt
Tanabnshmersysterme mit 1/2 inch
Schraubbefestigung kdnnen mit demn
fim Fachhandel erhattlichen Sander-
zubehdr eingebaut werden

Einstellbarer Uberhang

see separate Jdata sheet

Cartridges with 1/2 inch screw-type
attachment. These ¢can be fitted with
the special accessories which can be
cbtained from trade dealers
Adjustable overhang

voir fiche technique séparde

Celtules avec tixation § vis de 1/2*
peuvent étre montées ou noyées. Des
accessoires spéciaux 50Nt en vents
dans le commerce spécialisé
Ported-faux régtable

02-15p) {0.2-154q 02-154q)
betriebssicher ab operabie from tonctionnement sir 4 partir de 2,5 mN {0.25 p}
Tonabnehmersystem Cartridge Cellule

Art.-Nr. 266 048
S mm

TA-Anschluischerna / Pick up connection diagram / Schéma de branchement

Kontaktplatte Stummschalter .
Contact Plate Muting switch
- Cinch-Stecker DiN-Stecker 5 pol.
Plaque de contasts Forheey__ Cinch Plug ..  DINPlugS pin
— rot/red/rouge ! P R fiche cinch P fiche DIN 5 poles
rechter Kanal | ~ oy HE
right channel : :"A) : i ! E \ !
canal droit [ 1 N [T 9
—_—— Oy O—-
1 1 ]
schwarz { black / noir ' -t
> L L} C
I : :
[
bBlau / blus / bleu [ P I
linker Kanaj : red " : iy O _ f"\
laft ll:hal'll'g ] L _\ t : } [
canal gauche | -~ | 1 ® P
— wuil / white / blanc i - . v )
L 1




Funktionsbeschreibung

Motorelektronik 930 Q

Die Matorelektronik ME 930 O besteht aus den Funktionsgruppen;
Matorelektronik mit Drehzahl- und Pitch-Regeiung

Quarzteil mit Teller und Phasenvergleicher
Leuchtstroboskopschaltung

Motorbriickenendstufe und Spannungsversorgung

Motoralektronik

Die Frequenz des 200-paligen Generators wird mit C 8010 von hoher-
frequenten Stérspannungen befreit und gelangt Uber C 9011 an den
Varverstirker, bestehend aus T 9004, R 9017 und R 9019. Diesar ver-
stirkt das Signa! 180fach und steuert iiber Pin 2 den als Schmitt-Trigger
geschalteten Qrperationsverstarker 1C 8005 an. Mit R 9018 und C9012
wird der Arbeitspunkt eingestelit, Die Mitkoppelung durch C 9013 be-
schleunigt den Umschaltvargang, £t 9020 schafft eine definierte An-
sprechschwelle des OP, der an Pin 1 steilflankige Impulse abgibt. Diese
gelangen iiber den Inverter IC 9006 Pin 1/2 an das Quarzteil. Die Impuise
werden mit C 8014, R 9022 und R 9023 differenziert und steuern den
Transistor T 9005 kurzzeitig an, der iiber den Sirombegrenzungswiderstand
R 9024 den zeitbestimmenden Kondensator C 8015 entladt. Ober die
Widerstinde A 9025 — 9028 wird je nach gingestellter Drehzahl C 9015
in Richtung Masse aufgeladen, Bei Drebzahl 33 ist nur R 9027 und
R 9028 wirk sam, bei Drehzahl 45 wird der Analagschalter LC 9007 Pin 3/4
leitend und die Widerstinde R 9025 und R 9026 werden dazugeschaltet.
Beim Drehzahlabgleich ist also immer zuerst “33” und dann 45" sin-
zustellen. Die so gewonnene s3gezahnfdrmige Spannung liegt an Pin &
des IC 9005 und wird mit der durch & 9029 und R 9032 gebiideten
Mittenspannung verglichen, Unterschreitet die S3gezahnspannung diese
Mittenspannung. 5o entsteht am Ausgang Pin 7 ein positiver Impuls, der
3 Funktionen auslgst:

Ober 1C 9006 Pin 3/4 wird der Analogschalter FC 9007 Pin 10/11 geaff-
net. Die Spannung an € 9020 bleibt unverdndert und der Motor wird
iber den V-MOS-Transistor T 9008 weiterhin mit dem aus der zuvor er-
folgten Messung entstandenem Strom angesteuert.

Das Differenzierglied C 9017 und R 9034 stevert ilber den Analog-
schalter ¥C 9007 Pin 8/9 T 9006 kurzzeitig an, der dann € 9019 entiadt,
Uber die Entladeschutzdioden D 9008/3009 und den Einstellregler
A 9038 wird C 9019 nach erfolgter Entladung fiir die Dauer des Ein-
gangsimpulses anndhernd linear aufgeladen. Die Hohe der LadeschluB-
spannung ist dabel abhingig von der Dauer des Stromimpuises, Falit
dieser auf Nul! zurick, so bleibt die Spannung des C 9019 konstant
und wird, nachdem IC 9007 Pin 10/11 niederohmig geworden ist, auf
den Speicherkondensator C 9020 Ubertragen, der (ber T 9008 den
Motor anstsuert.

R 9036, R 9037, R 9039, 0 9010 und C 8018 dienen dem sicheren An-
laufen und verhindern ein Hachdrehen des Motors.

Anlauferkennung

Am Sourcewiderstand R 9044 des T 9008 fallt durch den Motarstrom
eine Spannung ab, die etwa die GréRe des Drehmomentes des Motors
anzeigt. Uber den Spannungsteiler R 9042 und R 9043 wird bei einer
Belastung von =5.10"2 Nm und im Anlauffall der Transistor T 9007
angesteuert, was am Kollektor ein Low-Signal entstehen 1aRt. Dieses
steuert den Inverter 1C 9006 Pin 5/6 an, der iber D 9005 die Guarz-
synchronisierung aktiviert und ein Steversignal zur Displaydunkel-
steuerung abgibt. Weiterhin wird von T 9007 {ber R 8033 und D 9007
die an Pin 5 IC 9005 anliegende Spannung geringfigig abgesenkt, was
Uberschwingen verhindert und sauberes Einrasten auch bei Pitch-Betrieb
sicherstellt. Beim Quarzbetrieb wird dieser Einflull durch die Diode
© 9006 wirksam, da dort die hier nachteilig wirkende Kompensations-
schaltung ausgeschaltet ist,

Kompensationsschaltung

Die drehmomentabhingige Spannung am Sourcewiderstand B 9044
wird mit R 9045 und R 9046 geteilt und trigt ber den Widerstand
R 9032 zur Erzeugung der Vergleichsspannung an Pin 5 des IC 9005
bei. Wird nun die Drehmomentbelastung erhéht, steigt die Spannung
an R 8044 und auch die Spannung an Pin 5. Der zuvor entstandene
Drehzahlabfall wird kompensiert. Diese Regelung wird mit dem Quarz/
Pitch-Schalter durch Kurzschliaflen von R 9046 aufgehoben,

Uber den Analogschalter 1C 8007 Pin 1/2 und den Widarstand R 9030
wird die an den Pitch-Potentiometern P 33 und P 45 eingestellte Teil-
spannung zusatzlich auf Pin & des IC 9005 gelegt, was eine Drehzahlver-
anderung von %6 % maglich macht, Bei Quarzbetrieb wird durch Offnen
von |C 9007 Pin 1/2 die Pitch-Regelung unwirksam.

Quarzteil

Das Cuarzteil hat die Aufgabe, die Zeitreferenz zur Ansteuerung des
Stroboskops und des Phasenvergleichers bereitzustellen, Mit Hilfe des
Phasenvergleichers wird die Drehzahlregelschaltung derart beeinflulit,

dalt sich eine geschlossene Phasenregelschleife ergibt {PLL}, wodur:
die Genauigkeit des Quarzaszillators auf die der Drehzahl ibertrag
wird,

Der Quarzoszillator, bestehend aus T 9001, C 9001-3, R 9001, R 90(
und dem Quarz O 9001 steuert an Pin 9 den programmierbaren Teil
IC 9001 an. Steht der Drehzahlumschalter auf Stellung 33", 50 haben ¢
Eingangsdaten Pq bis Pg folgendes Bitmuster: LM L L L HLH Di
entspricht der Dezimalzahl 182, wobei die Wertigkeit van P{ —Pg d
Zahlen 1, 2, 4, B, 16, 32, 64, 128 entspricht. Auf Stellung “'45°" wi
durch das Bitmuster (Py — Pg} L L. L L L L H H die Dezimatzahl 1.
dargestelit, Dabei ist, bedingt durch Fin 2, die Wertigkeit von PybisP
1,2, 4,8, 10, 20, 40, 80. Am Ausgang Pin 15 sind nun die Frequenz
28 44 kHz baw. 38,40 kHz zur weiteren Frequenzteilung verfigh
Mit dam 1C 9003 werden mit 8 Stufen die Frequenzen 111 Hz bz
150 Hz erzeugt, dia genau den Regelfrequenzen fir die Drehzahlen

und 45 entsprechen. Ober den Inverter 1€ 9006 Pin 11/10 wird ¢
Phasenvergleicher, bestehend aus den zwei D-Flip-Flops im 1C 9004 -
wie R 9010 und D 9001, mit dem Frequenzsclisignal angesteuert, D
Istwert der augenblicklichen Direhzahl erhdlt er fber den Inver
IC 9006 Pin 1/2 von Pin 1 des 1C 9005, An den Ausgliingen Fin 13 u
Pin 2 des IC 9004 stehen dig informationen iber den Phasenwini
von — 360 bis + 360 in Form von variablen Imputsbreiten an. Diese £
nala werden von den Dioden D 9002 und D 9003 entkoppelt und r
A 9011, R 9012 so an die Regeleiektronik angepalt, daB sich .
Synchronhaltebereich von —5 % bis +2 % ergibt. Die Synchronisiere
wird dadurch erveicht, dail bei voreilendem Phasenwvinkel ein positi
Strom dber R 9011 zum drehzahlbestimmenden Kondensater € 9C
fliett, Dadurch wird die Sagezahnspannung verkleinert {von +12 V.
gemessen), was einen Rickgang des Motarstromes zur Folge hat. |
nacheitendem Phasenwinkel fliet Gber A 9012 én negativer Strom 2.
C 9015, wodurch eine Erhdhung des Motorstrames erreicht wird. [
fiihrt dane jeweits dazu, dall die vorgegebene Crehzahl erhalten bls!

Hochlaufsynchronisisrung

Steigt der Matorstrom durch erhdbte Drehmomentioelastung ader bt
Hochlaufen stark an, so wird durch den Spannungsabofall an R 9044 §
T 9007 und IC 9006 Pin 5/6 die Hochlaufsynchrenisierung eingeschal
indem die Dicde D 9005 in den gespersten Zustand gebracht wird, -
Generatarimpulse am IC 9005 Pin 1 werden hinter dem Inverter |C 9(
Fin 1/2 mit C 9007 und R 9005 differenziert und gelangen dann i
R 9006 auf den Riicksetzeingang des Quarzteilis, dessen Ausgangs
quenz dadurch synchron mit der Generatorfrequenz tauft. Am Ausg
des Phasenvargieichers liegt damit kein drehzahversnderndes Signal
wodurch der Antrieb exakt bei Nenndrehzahl einrastet. Da nun
Spannungsabfall an A 9044 verschwindet, wird Pn 6 des IC 8006 Pin
Low, wodurch D 9005 leitend und die Hochlau bynchronisierung au
schaltet wird, Der nun wieder. freilaufende Quarztailer halt dber -
Phasenvergleicher die Drehzahi phasenstarr fest,

Leuchtstroboskop

Die quarzgenaue Ausgangsfrequenz des Teilers [{ 9002 wird mit R 8(
C 9008 und R 9013 differenziert und dber dir Diode D 9004 auf
Basis des T 9002 gegeben. Dieser geht dabei kurzeitigin den gesper
Zustand iiber, wodurch sich an der Basis des T 9003 eine aus der
Spannungsteiler geschalteten Widerstanden R 9314 und R 8015 erz
ten Spannung einstellt, Diese Basisspannung stawert nun T 9003 50
dureh, bis am Emitterwiderstand R 9016 eine umetvra 0.7 VoIt niedri
Spannung als an der Basis entsteht. Da die Bassspannung konstant
ist auch die $pannung an R 9016 konstant, wodhreh der Kollektorst
nahezu unabhingig vorm Verbraucherwiderstand Leuchidiodenspanri
ist. Die Stroboskopleuchtdiaden leuchten also mit konstantermn imr
férmigen Strom, wobei die Einschaltdauer hapts&chlich von C &
und R 8013 abhingt, Die Folgefrequenz betrdg bexi 33 Upm 555
bei 45 Upm 75 Hz und ist quarzgenau,

Matorbrickenendstufe und die Spannungeverso gung

Die nachfolgende Schaltung ist auf separater Leferpaiatte aufgebaut.
Kommutierungstransistoren T §201 bis T 824 werden von der
Motor angeordneten Hallgeneratoren abwechsekd a ngesteuert, wod
sie je nach Drain-Source- Widerstand des T 9008metr oder wenigar
durchsteuern, Uber die Widerstinde R 9202 —3 92205 werden dad
die entsprechenden PNP-Transistoren T 9205 —T 9 208 leitend, die
Brickenschaltung ergeben. Paarweise werdersdarn die Transist
T 9201 und T 8206, T 9202 und T 9205, T903 und T 8208, T ¢
und T 9207 geschaltet. C 9202 und € 9203 vertindern beim Umspr
der Briicke steile Stromflanken. Die Hallgeneato rspanaung wird
R 9201 und den im Motor befindlichen 1,1 kOhn w/idersténden erz
Zur besseren Wirmeableitung sind die Transispre 7 9201 — T ¢
auf ein Kihlblech geschraubt, wo sich auch de §paannungsregler fi
Regelelektronik befindet. C 9201 und C 9214 onterdricken o
Schwingneigung.



Display
Das Display dient der optischen Anzeige folgender Betriebszustinde:

Drehzahlanzeige 33 und 45, Quarz- oder Pitchbetrieb sowie Anzeige der
Pitch Drehzahlabweichung in %, Die beiden LED’s fiir die Drehzahlan-
zeige 33 und 45 leuchten abwechselnd je rach Schalterstellung.

Ihr Anodenpotential wird bei GbermaRiger Drehmomentbe_lastung am
Tefler und in der Anlaufphase durch T 9301 an Masse gelegt, wodurch
sie erldschen,

Dig beiden LED's fir Quarz- oder Fitch-Anzeige leuchten ebenfalls ab-
wechselnd je nach Schalterstellung von 5 2, In Stellung: ,Quarz”’ wer-
den zusitzlich dber D 9307 und HC 9301 die LED's der Pitch-Anzeige
dunkelgesteuert. Dies ist auch in der Anjaufphase und wenn der Teller
stark abgebremst wird der Fall,

Die Ansteueryng des [C 9307 und damit der LED-Skala erfolgt mit dem
zugehdrigen Pitch-Regler. Sein Spannungsbereich ven 0, . . 12 V ent-
spricht dem Bereich der LED-Skala von —6 % bis +6 %,

Vartailerplatte

Die Printpiatte beinhaltet die Gieichrichtung D 9451 — D 9454, die HF-
Siebung C 9451 und C 9452 und die 100 Hz-Siebung mit C 9453, Sie
hat zudem die Funktion der zentralen Geriiteverschaltung. Frontbadie-
nung, Solenoids und Gerdternicroschalter sind hier verkabelt.

Start-Funktion

Wird die Start-Taste S 4 gedrilckt, zieht der Start-Magnet M 1 an. Sein
Selbsthaltekontakt S 12 hilt den Magnet Gber D 9456 und T 9451 in
Arbeitsstellung. Uber D 9455 wird die Motoretektronik nach 0 V ge-
schaltet. L3uft das Kurvenrad anschlieBend durch, schaltet der Layf-
werkschalter S 8 ein, Jetzt liegt die Motorelektronik ganz an Masse.
Kurz bevor das Kurvenrad in seing Nullsteliung 13uft, wird von ihm der
Anker des Start-Magneten M 1 zuriickgedringt, der Magnet fillt ab,

Steht am Anfang der Stariphase der Nocken des Motorritzels so ungin-
stig, dall der Anker des Start-Magneten den Absteller nicht ganz vor-
schieben kann, so k&nnte der Start-Vorgang nicht eingeleitet werden,
da der Anker seinen Haltekontakt S 12 nicht erreicht. Um diesem Zu-
stand vorzubeugen, bekammt die Motorelektronik in diesem Falle Giber
D 8461 Swom. Der Motor drebt sich, nun lduft der Start-Vorgang plan-
miBig ab.

Dayerspiel-Funiktion

Die Dauerspieftaste S 3 hat verriegelnde Funktion. Sie kann durch
nochmaliges Drilcken oder durch Bex3tigen der Stop-Taste § 5 wieder

entriegelt werden. Die Dauerspieltaste verbindet den Start-Magneten
M 1 derart mit dem Kurvenradschalter ,, Dauerspiel’’ S 9, dalt nach dem
Abspielen der Platte nicht der Stop- sondern wieder ain Start-Vargang
auggelbst wird.

Stop-Funktion

Fir die Stop-Funktion darf der Start-Magnet M 1 nur kurze Zeit (héch-
stens 1/4 Kurvenrademdrehung) in Arbeitsstellung bleiben. Bleibt er
langer in Funktion, wird das Umlenksegment des Kurvenrades betitigt,
Dies entspricht dann der $tart-Funktion.

Um ein Ldsen des Selbsthaltekontaktes S 12 des Start-Magneten M 1 zu
erreichen, st auf der Verteilerplatte eine Schaltung untergebrachi, die
nach Loslassen der Stop-Taste S 5 oder spitestens beim Umschalten des
Kurvenrad Daverspiel-Schalters § 9 den Start-Magneten M 1 fiir kurze
Zeit stromlos macht.

Normalerweise ist diese Stromunterbrechungsschaltung durchgeschaltet,
Die Basis von T 9451 wird (ber R 9452 auf positivem Potential gehat-
ten. Wird die Stop-Taste § 5 gedriickt, so wird tber R 9453 der K onden-
sator C 8454 entladen, Nach Lostassen der Stop-Taste oder Umschalten
des Kurvenradschalters $ 9 kann sich C 9454 iiber R 9452 aufladen,
Damit bleibt der Transistor T 9451 bis zurn Erreichen seiner Schaft-
schwelle von ca. 5 V gesperrt. Innerhalb dieses Zeitraumes mul der
Anker des Start-Magneten M 1 abgefallen sein, damit die Stop-Funktion
ordnungsgemal ablaufen kann,

Ciese Zeitspanne betrdgt 0,075s bis 0.3 s

Die Diode D 9459 ermdéglicht den Anzug des Start-Magneten M 1 bej
Stop-Betdtigung. :

Drie Biode D 9460 verhindert die Aufiadung von C 8454 {iber den Zweig
von D 9459. C 9454 501l sich ja Ober B 9452 aufladen,

D 9456 hebt das Emitterpotential zur Funktilonssicherbeit zusitzlich
an,

D 9455 verhindert das Ansprechen des Start-Magneten beim manuellen
€inschalten des Gerites.

D 9457 und D 9458 unterdriicken die beim Abschalten entstehenden
negativen Spannungsspitzen an den Magneten.

Muting

Das NF-Signal gelangt vom Abtaster an den Stummschalter S 11, der in
Grundstellung des Kurvenrades gedffnet ist, Parallel zum S 11 liegen die
Kontakte des Stummschalttrelais RL 9401, Dieses Relais wird iber die
Schatter S 4 — Start, § 9 — Continous Play und 8 8 = Lift angesteuert.
Das Relais bleibt ca_ 1,2 Sekunden in Arbeitsstellung,

Description of functions

Mator eircuit 930 O

The motor circuit ME 930 (1 consists of the following circuitries:
Motor circuits with speed and pitch control

Quartz crystal circuit with divider and phase comparator
Stroboscope circuit

Motor bridge output stage and power supply

Mator cirquit

The frequency of the 200-pole generator is freed from high frequency
noise voltages by C 9010 and, via C 9011, reaches the preamplifier con-
sisting of T 9004, R 2017 and B 9019. This amplifies the signal by 180
and, via pin 2, drives the operational amplifier IC 9005 wired as a
Schmitt trigger, The operating point is set with R 9018 and C 9012,
Coupling by C 9013 accelerates switchover. fi 9020 creates a defined
response threshold of the operational amplifier which outputs steep
pulses at pin t. Via inverter IC 9006 pin 1/2, this reaches the quartz
crystal circuit. The pulses are differentiated by C 9014, R 9022 and
R 9023 and briefly activate transistor T 9005 which, via the current
limiting resistor R 9024, discharges the capacitor C 9015 which deter-
mines the time. Depending on the set speed, C 8015 is charged up to
ground via resistors R 9025 — 9028, In the case of 33 rpm, only R9027
and R D028 are effective and, in the case of 45 rpm, the analog switch
IC 9007 pin 3/4 becomes conductive and resistors B 9025 and R 9026
are additionally connected. Thus, for speed adjustment, first of all 33"
and then "'45™ must be set. The sawtooth voltage thus obtained is applied
1@ pin 6 of |C 3005 and is compared with the center valtage genarated
by R 9029 and R 9032. If the sawtooth voltags falls below this center
voltage, a positive pulse reaches output pin 7 which triggers off three
functions: ’

The analeg switch 1C 9007 pin 10/11 is opened via IC 9006 pin 3/4,
The voltage at C 8020 remains unchanged and, via the V-MOS transistar
T 9008, the mator continues 1o be driven with the current resulting from
the previous measurement.

Via the analog switch IC 9007 pin 8/9, the differentiator C 9017 and

R 9034 briefly drives T 9006, which then discharges C 9019,

After charging, C 9019 ischarged up in approximately linear manner for
the duration of the input pulse via the dischargs protection dicdes
0 9008/9009 and the controf R 9038, In this case, the amplitude of
the finai charge voltage depends on the durations of the current pulse.
If this drops to zero, the voltage of C 9019 remains constant and, after
IC 9007 pin 10/11 has assumed a low resistance, this voltage is trans-
ferred to the storage capacitor € 9020 which drives the rmotor via
T 9G08.

R 9036, R 9037, R 9039, D 9010 and C 9018 ensure that the motor
starts up properly and prevent it from gaining an overspeed,

Start up recognition

Due to the motor current, there is 8 voltage drop at the source resistor
R 9044 of T 9008 which approximately indicates the amount of motor
torque. In the event of a load of >* 5 x 10-2 Nm and during start up,
transistor T 9007 is driven via the voltage divider R 9042 and R 9043,
which causes & low signal at the collector. This drives the inverter
IC 9008 pin /6 which activetes crystal synchronjzation wa D 9005
and which outputs a contral signai for blanking the display. In addition,
the voltage applied to pin 5 of JC 9005 is slightly reduced by T 9007
via R 9033 and D 9007, which prevents overshoot and ensures proper
lacking even in pitch mode. In quartz mode, this influence becomes
effective via diode D 9006 as the compensation circuit, which in this
case is disadvantagesus, is deactivatad,

Compersation gircuit

The torque-dependent voltage at the source resistor B 9044 is divided
by R 9045 and R 2046 and, via resistor R 9032, contribules towards
generating the comparison voltage at pin 5 of 1C 9005, If the torque
load is now increased, the voitage increases at R 9044 in addition o the
voltage at pin 5. The previously resulting speed drop is balanced out.
This contro! loop is cancelled with the quartz/pitch switch by shorting
R 9048,



Via the analog switch 1C 9007 pin 1/2 and resistor R 9030, the partial
voitage set with the pitch potentiometer P 33 and P 45 is additionally
applied to pin § of IC 9005, thus making a speed alteration of £ 6 %
possible. In quartz mode, the pitch controf loop is rendered ineffective
by opening VYC 9007 pin 1/2,

Qusrtz circuit

The quartz circuit has the task of providing the time reference for
driving the stroboscope and the phase comparator, By means of the
phase comparator, the speed controb circuit is influenced in such a
way that a closed phase control loop (PLL) is produced which transposes
the position of the crystal oscillator on the speed.

The ¢rystat ascillator, consisting of T 8001, C 9001-3, R 3001, R 9002
and the crystal Q 9001, drives the programmable divider IC 8001 at
pin 9. If the speed selector is set to 33", the input data P{ to Pg have
the bit pattern: L H L L L H L H, This corresponds to the decima)
number 162, with the significance of Py — Pg corresponding to the
numbers 1, 2, 4, 8, 16, 32, 64 and 128. When the sglector is set 10
"45™, the decimal number 120 is represented by the bit pattern {Py — Pg)
L L L L LLHH.In this case, due to pin 2, the significance of P to Pg
is 85 follows: 1,2, 4, 8, 10, 20, 40 and 80. The frequencies 28.44 kHz
and 38.40 kHz are now awailable at the output pin 15 for further fre-
quency duration, The frequencies 111 Hz and 150 Hz are generated by
IC 9003 with eight stages and these precisely correspond 10 the centrol
frequencies for the speeds 33 and 45 rpm, Via the inverter IC 9006
pin 11/10, the pbase comparator, consisting of the two D flip-flaps in
1€ 9004 and A 9010 and D 9001, s driven with the set frequency. It
receives the actual current speed via inverter IC 9006 pin 1/2 from pin 1
of I1C 9005. Via the phase angles from —360 to +360, the information is
applied in the form of variable pulse widths at outputs pin 13 and pin 2
of IC 9004. These signals are decaupled by diodes D 9002 and D 3003

and matched with R 9011 and R 9012 to the controf circuitry insucha -

way that a synchronous holding range from —5% to +2 % is obtained.
Synchronization is achieved by the fact that a positive current flows
through R 2011 to the speed determining capacitor € 8015 in the event
of a leading phase angle. This reduces the sawtooth voltage [measured
from +12 V}, resulting in a decrease in the moter current. if the phase
angle lags, a negative current flows through R 8012 to C 9015, resulting
in an increase in the motor current, These decreases and increases result
in stabilization of the preset speed.

Start-up synchronization

tf the motor current increases too much due to an increased torque load
or during start-up, the star{-up synchranization is activated due 1o the
valiage drop at R 9044 via T 9007 and IC 9006 pin 5/6, and digde
D S005 is caused to block, The generator pulses at IC 9005 pin 1 are
differentiated by C 9007 and R 9005 after the inverter IC 9006 pin 1/2
and, via R 8008, these pulses reach the reset input of the quartz divider
whose output frequency runs synchronously with the generator frequency
as the result of this. Thus, there is no speed moadifiving signal at the out-
put of the phase comparator and, as the result of this, the drive locks in
exactly the nominal speed. As the voltagedrop at R 2044 now disappears,
pin 6 of 1C 9006 pin 5/6 becomes low, O 9005 becomes conductive and
the start up synchronization is deactivated, Via the phase comparator,
the speed is now kept phase-rigid by means of the quartz divider which
is now running freely,

Stroboscrope

The precise crystal-controlled output frequency of divider IC 9002 is
differentiated by R 9003, C 9008 and R 9013 and, via diode D 9004,
routed to the base of T 9002. This briefly becomes reverse-biased and,
at the base of T 9003, a voltage sets in which is generated by resistors
R 9014 and R 9015 wired as a woltage divider. This base voitage now
causes T 9003 to become conductive until a voltage appears at the emit-
ter resistor R 9016 whichis approximately 0.7 V lower than at the base.
As the base voltage is constant, the voltage at ft 9016 is also constant
and, as the result of this, the collector current is almost independent of
the load resistance {LED voltdge). The stroboscape LED's thus light up
with a constant pulse-shaped current in which case their “on” duration
mainly depends on C 9008 and R 9013, At 33 rpm, the repetition fre-
quency is 55.5 Hz and., at 45 rpm, the frequency is 75 Hz and is precisely
crystalcontrolied,

Mator bridge output stage and power supply

The following circuit is accommodated on a separate printed circuit
board. The communtation transistors T 9201 to T 9204 are alternately
driven by the hall generator in the motor, as the result of which thay are
forward-biased to a greater or lesser extent depending on thedrain-source
resistance of T 9008. Accordingly, via resistors R 9202 - R 9208, the
corresponding PNP transistors T 9205 — T 9208 become conductive,
resulting in a bridge arrangement, The transisters T 9201 and T 92086,
T 9202 and T 9205, T 9203 and T 9208, T 9204 and T 9207 are then
switched in pairs. C 9202 and C 9203 prevent steep current adges during
switchover of the bridge. The hall generatar voitage is produced by
R 9201 and the 1.1 kOhm resistors in the motor. Transistors T 9201 —
T 9204 are screwed onto a heat sink, also accommodating the voltage
controllers for the control circuitry, for better heat dissipation. C 9201
and C 9204 suppress the inclination of the controller circuitry 1o oscillate,

Display

The display serves to visually indicate the following conditions:

33 and 45 rpm speed display, quartz or pitch made and display of the
pitch deviation in %. The two LED's for the 33 and 45 rpm speed indi-
cation light up alternately depending on the switch setting.

If there is an excessive torque load on the platier, and in the start up
phase, the anode potential is connected to ground by T 9301, as the
result of which they are extinguished.

The two LED's for quariz or pitch mode also light up depending on the
switch setting 5 2. When the switch S 2 is set to ,,quartz”, the LEDs of
the pitch display are blanked additionally by D 9307 and IC 9301. This
is also the case in the start up phase and when the platter is braked
extremely.

1C 9301, and thus the LED scale, is driven with the pitch control. Its
voltage range from 0 . . . 12 V corresponds to the range of the LED
scale from —6 % to +6 %.

Distributor hoard

The printed circuit board comprises the rectifier cireuit D 9451 —
D 9454, the RF filters C 9451 and C 9452 and the 100 Hz filter consi-
sting of C 9453, In addition, the pc board serves as the central wirding
board. The front controls, the solencids and the micro switches are
wired here,

Start function

The start solencid M 1 is energized when the start button S 4 is depres-
sed. I1s seif holding contact S 12 holds the magnet in operating position
via D 9456 and T 9459, The maotor circuitry is switched to 0 V via
D 9455, If the cam wheel then clicks through, the drive switeh 5 8 is
activated. The motor circuitry is now completely connected to ground.
Briefly before the cam wheel moves to its zero position, it pushes back
the armature of the start solenoid M 1 and the sclenoid is deenergized.

1§, at the beginning of the start phase, the cam of the motor pinlon isin

such an unfavorable position that the armature of the start solenoid can
not completely push forward the switch off mechanism, and the motor
can not be staried, as the armature does not reach holding contact. In
order 1o prevent this, the motor circuitry receives current via D 9461 in
this case. The motor starts 10 turn and the start procedure runs pro-
perly.

Continucus play function

The continuous play button S 3 has a locking function. It can be un-
locked by pressing it once again or by depressing the stop butten S5,
The continucus play button connects the start solenoid M 1 to the
continuous play’™ cam switch 5 9 in such a way that the start function
and not the stop function is triggered off after a8 record has been
played.

Stop function

For the stop function, the start solenoid M 1 must only remain in its
operating positicn for a short time (maximally 1/4 of a cam rotation).
tf it remains in function for a longer time, the deflection segrnent of the
cam thweel is actuated. This then corresponds to the start function,

[n order to ensure that the self-hoiding cantact § 12 of the solenoid
M 1 is released, the distributor boards contains a circuit which briefly
keeps current from the solenoid M 1 after the stop button S 5 is re-
leased or, at the latest, when the cam wheel-continuous play switch 5 9
is switched over.

Normally, this interruption circuit conducts a current. The base of
T 9451 is kept at positive potential via R 9452, If the stop button 5 6 is
depressed, capacitor C 9454 is discharged via R 9453, After the start
button is released or after switchover of the cam switch § 9, C 9454 can
charge up via R 2452, In this way, transistor T 9451 remains reverse-
biased wntil its switching threshold of approximately § V is reached.
Curing this period, the armature of the start solenoid M 1 must be de-
energized so that the stop function can operate properly.

This time amountes to 00755 t0 0.3 5. )
Diode D 9458 permits energization of the start solenoid M 1 when stop
is actuated.

The diode D 9460 prevents C 9454 from charging up via the branch of
D 9459. C 2454 should charge up via R 9452,

O 9456 additionally increases the emitter potential to ensure proper
operation,

G 9455 prevents response of the start solenoid when the unit is swit-
ched on manually.

D 9457 and D 9458 suppress negative peak voltages at the solenaids du-
ring switch off,

Muting

The AF-signal is fed from the cariridge to the muting switch S 11,
which is open in the basic position of the cam, The contacts of the
muting relay RL 9401 is parallel with the switch S 11. This relay is
driven via the switches S 4 — Start, § 9 — Continous Piay and 56 - Lift,
The relay is closed for approx, 1.2 seconds,




Description du fonctionnement

Electronique du moteur 930 0

L'électronique du moteur ME 930 Q est composée des groupes fonc-
tionnels suivants:

Electronique du moteur avec réglage de vitesse et réglage Pitch
Bloc & quartz avec diviseur et comparateur de phase

Circuit de stroboscope lumineux

Etage final en pont du moteur et alimentation en tension

Electronique du mateur

La fréquence du générateur 3 220 pdles est débarrassée des tensions per-
turbatrices 3 fréquence plus élevée par C §010 et parvient par C 9011au
préamplificateur, cornposs de T 9004, R 9017 et R 9019. Celuici amplifie
fe signal de 180 fois et actionne par l'intermédiaire de Pin 2 I'amplifica-
teur opérationnel 1C 9005, qui se présente squs forme de irigger de
Schmitt. Le paint de travail est réglé avec R 9018etC 9012, Le couplage
par C 9013 sccélre I'opération de commutation, B 9020 crée un sauil
défini de réponse de I'amplificateur opérationnel, qui fournit & Pin des
impulsions 4 flancs raides. Celles-ci parviennent au bloc & quartz en
passant par l'inverseur IC 9006 Pin 1/2, Les impulsions sont différen-
cides par C 9014, R 9022 et R 9023 et actionnent bridverment e transistor
T 9005, qui décharge le condensateur C 9015, qui détermine le temps
par I'intermédiaire de Ja résistance de limitation de courant R 9024,
C 9015 est rechargd en direction de la masse par |'intermédiaire des
résistances R 0025 — 9028 selon la vitesse sélectionnde. A (a vitesse 33,
seules R 9027 ot R 9028 sont opérantes: 4 la vitesse 45, I'interrupteur
analogique 1V 9007 Pin 3/4 devient canducteur et les résistances R 9025
et R 9026 sont connectdes. I faut donc toujours régler tout d'aberd
33" et ensuite *"45" pour un réglage de vitesse. La tension an dents de
scie ainsi obtenue est appliguée d Pin 6 de IC 005 et est comparée d la
tension moyenne formée par R 9029 et R 9032, S la tension en dents
de scie est inférieure & cette tension moyenne, une impulsion positive
€51 géndrée 4 la sortie Pin 7 et déclenche 3 fonctions:

L'interrupteur analogique 1C 9007 Pin 10/11 est cuvert par I'intermédiaire
de IC 9006 Pin 3/4. La tension 8 C 9020 reste inchangde et le moteur
continue d'étre actionné par le courant obtenu iors de la mesure précé-
dente par Iintermédiaire du transistor V-MOS T 9008.

L'étément différenciateur C 9017 et R 0034 actionne bridgvement
T 9006 par l'intermédiaire de I'interrupteur analogique 1C 9002 Pin 8/9;
T 9006 décharge alors C 019,

C 9010 est rechargé de maniére pratiquement linéaire lorsque la décharge
a8 eu liey pendant la durée de Iimpuision d'entrée par l'intermédiaire
des diodes protectrices de décharge D 9008/9009 et du régulateur
£ 9038. L importance de la tension finale de charge est fonction de ta
durée de I"impulsion de courant. Si celleci retombe 4 zerp, la tension
de C 9019 reste constante et est transmise, aprés que 1C 9007 Pin 10/11
SOt passé 4 une basse impédance, au condensateur & accumulation
€ 9020. qui actionne le moteur par 'intermédiaire de T 9008,

R 9036, R 9037, R 9039, D 9070 et C 9018 font en sorte nue e moteur
démarre 3 coup sir et empéchem qu’il monte & plein régime.

Identification du démarrage

Ou fait du courant du moteur, une tension baisse au niveau de la
résistance de source R 9044 de T 9008: cetle tension indique approxi-
mativement |'importance du couple derotation du moteur. Le transistor
T 9007 est actionné par I'intermédiaire du diviseur de tension R 9042
et R 9043 en présence d’une charge de >>5.10°2 Nm et en cas de démar-
rage. ce qui fait apparaitre un signal jow au niveau du collecteur. Ce
signal actionng I'inverseur 1C 9006 Pin 5/6. qui active la synchronisation
8 quartz par I'intermédiaire de T 9005 et fournit un signal de commande
4 la commande d'obscurité du.display. De plus, la tension appliquée a
Pin 5 1C 9005 est légeremant abaissée par T 9007, par I'intermédiaire de
R 9033 et D 9007, ce qui empache toute suroscillation et garantit un
encliquetage correct également en service pitch. En service 4 quartz,
cette influence devient opérante du fait de fa diode D 9006 car dans ce
cas, le Circuit de compensation, défavorabls ici, est déconnects.

Circuit de compensation

La tension au niveau de la résistance de source R 9044, qui est fonction
du couple de rotation, est divisée par R 9045 et R 0046 et contribue
par I'intermédiaire de la résistance R 90323 générer {a tension daréférence
& Pin 5 de IC 9005. Si le couple de rotation est augmenté, fa tension 3
A 9044 augmente. de méme que Ia tersion 4 Pin 5. La baisse de vitesse

enregistrée auparavant est compensée, Ce réglags est supprimé par le-

commutateur quartz/pitch par court-circuitage de R 9046,

La tension partielle sélactionnée sur les potentiometres pitch P 33 et
P 45 est en outre appliquée & Pin 5 de IC 8005 par I'intermadiaire de
l'interrupteur analogique IC 9007 Pin 1/2 et de la résistance R 2030, ce
qui Tend possible une variation de vitesse de * 6 %, En service avec
quartz, le réglage pitch est rendu inopérant par ouverture de IC 9007
Pin 1/2,

Bloe 4 quartz

Le bloc 4 quartz a pour tiche de fournir la référence de temps néces-
saire pour {a cormmande du stroboscope et du comparateur de phase.
Le circuit de réglage de la vitesse est influencé 8 iaide du comparateur
de phase de manidre 3 obtenir une boucle fermée de réglage de phase
{PLL), ce qui a pour effet que la précision de I oscillateur a quariz est
transmise 4 1a vitesse. _

L oscillateur 4 guartz, composé de T 9001, T 9001-3, R 9001, R 9002
et du quartz Q 9001, acticnne le diviseur programmable 1C 9001 & Pin 9,
Si le commutateur de vitesse est sur 33", les données d'entrée Py1aPg
ont fa combinaison suivante de bits:LHL LL H L H. Cela correspond
au nombre décimal 162: dans ce cas, P| —Pg correspondent aux nombres
1,2, 4.8,16, 32, 64, 128. A la position “45"*, le nombre décirmaj 120
est représenté par la combinaison de bits (P; ~Pg) LLLLLLHH,
Dans ce cas. Pq & Pg ant la valeur significative suivante du fait da Pin 2-
1,2, 4,8,10, 20, 40, 80. Les fréquences de 28,44 kHz et 3840 kHz
sant alors disponibles 4 1a sortie Pin 15 pour les gpérations ultérieures
de division de fréquence. Les fréquences de 100 Hz et 150 Hz, qui cor-
respondent exactement aux fréquences de réglage pour les vitesses 33
et 45, sont générées par (C 9003, avec § étages. Le comparateur de
phse, composé des deux flip-flop D de IC 9004 ainsi que de A 3010 et
de D 9001, est actionné par le signal de consigne de fréquence par {'in.
termédiaire de I'inverseur IC 9006 Pin 11/10. N regoit la valeur réelle
de vitesse momentande de Pin 1 de IC 9005 par I'intermédiaire de |'jn-
verseur 1C 9008 Pin 1/2. Aux sorties Pin 13 et Pin 2 de C 9004 se
trouvent les informations sur l'angle de phase de ~360 4+ 360 sous forme
d'impulsions de durée variable. Ces signaux sont découplés par tes diodes
T 9002 et D 9003 et adaptés par R 9011, R Q012 & I"'électronique de
réglage de maniére 4 abtenir une plage de synchronisme de —5 % a+2%.
La synchronisation est obtenue du fait qu’un courant positif traverse
R 9011 et parvient au condensateur C 9015, qui détermine fa vitesse,
en présence d'un angle avanceé de phase. La tension en dents de scie est
afnsi réduite {mesure effactude en partant de + 12 V), ¢ce qui entraine
un recul du courant du moteur. En présence d'un ange retardé de
phase, un courant négatif traverse R 9012 en direction de C 9015, ca
qui provogue une agumentation du Courant du moteur. Cela a pour
effet dans chacun des cas que fa vitesse prescrite est maintenue,

Synchronisation durant la montée 3 plein régime

Si le courant du moteur augmente fortesnent du fait du couple de rota-
tion plus élewd ou durant la montée a plein régime, le systéme de
synchronisation pour mantée 3 plein régime est connectd par la baisse
de tension 3 R 9044 par I'intermédiaire de T 9007 et IC 90086 Pin 5/8;
la diode T 2005 est alors mise a I'état bloqué. Les impulsions du g&néra-
teur & C 9005 Pin 1 sont différencides par C 9007 et & 9005 derrigre
Pinverseur 1C 9006 Pin 1/2 et parviennent ensuite par I'intermeédiaire de
R 9006 & rentrée de remise 4 zéro du diviseur 3 quartz, dont ta fréquence
de sbrtie est ainsi synchrone avec la fréquence du générateur, Aucun
signal modiflant la vitesse n'est dong appliqué 4 la sortle du comparateur
de phase, ce qui a pour effet que 1a commande s'encliquette exactament
4 la vitesse nominale. Etant donné que ia baisse de tension a R 2042
disparalt alors, Pin 6 de IC 9606 Pin 5/6 passe 4 un é1at low, ce quia
pour effet gue O 9005 devient conductrice et que la synchronisation
pour montée a plein régime est déconnectée. Le diviseur & quartz, qui
tfonctionne de nouveau fibrement, maintient la vitesse rigide en phasg
par l'intermédiaire du comparateur de phase.

Stroboscope Tumineux

La fréquence de sortie du diviseur IC 9002, d'une précision commandée
par guartz, estdifférenciée par R 9009, C 9008 et R 9013 et fournie par
12 diode D 9004 3 l2 base de T 9002. Celuici passe alors bridvement 3
I'état blogué, ce qui a pour effet qu'une tension générée par les résistances
R 9014 et R 9015, montées comme un diviseur de tension, apparart d la
base de T 9003. Cette tension de base actionns alors T 9003 jusqu ‘s ce
qu‘une tension inférieurs d'environ 0,7 volt 4 celle de la base apparaisse
au niveau de la résistance d'émetteur A 8018, Etant donné que 13 teision
de base est constante, la tension a R 9016 est également constant e, ce
qui a pour effet que le courant de collecteur est pratiquement indépen-
dant de la résistance de I'utilisateur ltension de diode fumineusel . Les
dicdes lumineuses du stroboscope brillent done avec un courant pulsé
constant; ta durée de connexion dépend principalement de C 9008 et
de R 9013. La fréquence de répétition est de 555 Hz pour 33 tr/mn,
de 75 Hz pour 45 tr/mn et a une précision commandée par quartz,

Etage final en pont de moteur et alimentation en tension

Le circuit suivant est instaflé sur une plaguette 4 circuit tmprim€ sé.
Parée. Les transistors de commutation T 9201 & T 9204 sont actio nnés
alternativernent par les générateurs de Hall instaliés dans le motey £, ce
qui a pour effet qu’ils sont actionnés plus ou moins fortement Sui vant
12 résistance de source Drain de T 9008, Les transistors PNP T 9205 -
T 9208, qui formentun cireuit en pont, deviennent de ce fait conduct eurs
par I'intermédizire des résistances R 9202 — R 9205, Les transistors




T 9201 et T 9206, T 9202 et T 9205, T 9203 et T 9208, T 9204 et
T 9207 sont couplés par paires.C 9202 gt C 9203 empéchent I'apparition
de flancs de courant abrupts lorsque le pont saute. La tension de généra-
teur de Hall est généréa par R 9201 et par les résistances de 1,1 kohm
qui se trouvent dans le moteur, Afin d'obtenir une meilleure dérivation
de chaleur, les transistors T 9201 — T 9204 sont visses sur une tdle de
refroidissement, sur laquelie se trouve également le régulateur de tension
prévu pour I'édlectronique de réglage. € 9201 et C 9204 suppriment son
instabilité inhérente,

Display

Le display procéde & la signalisation optique des états de service sui-
vants:

Indication de vitesse 33 et 45, service & quartz ou service pitch ainsi
qu’indication de I"écart de vitesse pitch en %. Les deux diodes lumi-
neuses dindication de vitesse 33 et 45 sont allumées & tour derble, se-
lon 1a position du commutateur.

Leur potentiel d'ancde est relié & la masse en présence d'un couple de
rotation excessif au niveau du diviseur et durant la phase de démarrage
par T 9301, ce qui a pour effat qu'elles s'éteignent.

Les deux diodes lumineuses de signalisation du service & quartz ou du
service pitch sont également allumées & towur de rble, selon la positian
du commutateur § 2. A 1a position ,,Quarz™, les diodes lumineuses de
IYindication pitch sont en outre éteintes par intermédiaire de D 9307
et IC 9301. Celas est également le ¢as durant la phase de démarrage et
lorsque le plateau est fortement freiné.

La modulation de IC 9301, et par conséquent du cadran A diodes umi-
neuses est effectude par le régulateur pitch. Sa gamme de tensions de
0...12 V correspond & la gamme du cadran & diedes lumineuses, de
—£%3a+6%.

Plague de distribution

La plaquette & circuit imprimé renferme le redressement D 9451 —
O 9454, le filtrage HF C 9451 et C 9452 et Ye filtrage 100 Hz par
C 9453. Elle a &n autre Ia fonction du cablage central. La commande
frontale, tes solénoides et les microrupteurs sont cablés.

Fonction de démarrage

Lorsqu'on appuie sur la touche de démarrage S 4, I'aimant M 1 de mar-
che est attiré. Son contact d’automaintien, $ 12, maintient I'aimant en
position de travail par Vintermédiaire de D 9456 et T 9451, L'dlactio-
nique du moteur est connectée avec mains par I'intermédiaire de
D 9455, Lorsque la roue & cames se déplace ensuite, Finterrupteur du
mécanisme d'entralnement S 8 est connecté. L 'éectronique du moteur
est alors entidgrement reliée & 1a masse. Peu avant de revenir & sa posi-
tion de repos, la roue 4 cames repousse 'armature de F'aimant de mar-
che M 1, l'aimant se relache.

Si. au début de la phase de démarrage, la carme du pignon du moteur est
mal placée, de sorte que I'armature de I'aimant de marche ne peut pas
faire avancer entidrement le dispositif de mise & Yarrét, l'opération de
démarrage ne pourrait pas &tre déclenchée car l'armature n'atteint pas
son contact de maintien S 12. Afin d'éviter que cela ne se produise,

I"électronique du moteur recoit dans ce cas du courant par Vinterr
diaire de D 9461. Le moteur tourne, |‘'opération de démarrage se
roule alors comme prevu.

Fonction de lecture continue

La touche de lecture S 3 continue posséde un systéme de verrouille
Elle peut étre déverroullée en appuyant une nouvelie fois dessus ou
actionnant la touche d’arrét S 5. La touche de leciure S5 3 continue r
Faimant M1 3 Pinterrupteur de roue 3 cames | lecture continue™ 5 9
maniére 4 ce Qu'une opération de démarrage soit déclenchée, €t non
une opération d'arrét, en fin de disque.

Fonetion d'arrét

Pour la fonction d'arrét, laimant de marche M 1 ne doit rester ¢
trievemnent [au maximum 1/4 de tour de Ja roue & cames} en posit
de travail. $'il reste plus longtemps en fonction, le segment de déviat
de la roue A cames est actionné. Cela correspond alors 4 12 fonction
démarrage.

Afin quil soit possible d'obtenir un déclenchement du contact d'av
maintien S 12 de I'aimant de marche M 1, la plagque de distribution
équipée d’un circuit gqui met I'simant de marche M 1 hors circuit ¢
dant une bréve durée lorsquian a relfiché la touche d'arrét S 5 ot
plus tard lorsque I'interrupteur de lecture continue de la roue acar
S 9 est commuté.

Normalement, ce circuit de coupure de courant est connecté. La b
de T 9451 est maintenue sur un potentiel positif par A 94562, L«
qu'on appuie sur la touche d'arrét S 5, le condensateur © 8454 est
charge par l'intermédiaire de R 9453. torsgu’on reliche 1a tou
d'arrét ou que linterrupteur de la roue & cames S 9 est comm
C 9454 peut se recharger par l'intermédiaire de R 9452. Le transic
T 9451 reste ainsi blogué jusqu'a ce qu'il ait atteint son seuil de cc
mutation d'env. 5 V. L'armature de 'aimant de marche/farrét doit

relaché durant ce laps de temps afin que ta fonction d'arrét puiss
dérauler correctement.

Celapsdetemnpsest 3200755403 s.

Ls diode O 9459 permet & l'aimant M 1 d"&treattiré en G35 d'actiot
ment de la touche d’arrét.

La diode D 9460 empache que € 9450 soit rechargé par ia branch:
O 9459. C 9454 doit en effet se recharger par lintermédiaire
R 9452,

D 9456 &léve en outre le potentiel d'émetteur pour une plus grand:
curité de fonctionnement.

D 9455 empéche que l'aimant de marche gntreen action en cas dac
nexion manuelle de l'appareil.

D 9457 et D 9458 suppriment les pointes négatives de tension four
2 {"aimant lors de la déconnexion.

Muting

Le signal BF parvient de l‘analyseur au comnutateur silencieux
ouvert sur Ja position de base de la came. Lis contacts du refai
commutation silencieuse RL $401 sont paratéles 8 S 11. Ce n
est attaqué par les commutateurs S 4 - Start.S 8 - Continous Pla
5 6 - Lift. Le relais reste en position de travail pendant env, 1,25,




Verdrahtungsplan / Wiring schema / Schéma de céble

oo HelS
£S vs

doig
§S

un1
98

HETETRAN

L B e

| I

-

>
",
]
]
i
'
]
(
I
I
|
1
1
]
1
1
1
4

<N

Qs




Abgleichanleitung

Display

Zum Abgleich der LED-Skala bendtigt man einen Spannungsteifer
1:22: 1 {siehe Bild 1), der an die Displaybaugruppe E hinzugeschattet
wird, Dieser Spannungsteiler liegt zwischen + 12 V und 0 V. Steller
R 9309 und R 9311 in Mittensteliung bringen. Schaiter S 1.1 {Spannungs-
teiler) in Stellung 0.5 V bringen, mit R 9309 LED ~5 % und —6 % auf
gleiche Helligkeit ginstellen. Schalter S 1.1 in Stellung 11,5 V schalten,
mit R 9311 LED +5 % und +6 % auf gleiche Helligkeit ainstelien.

Da die Sigezahnspannung an dem Referenzkondensator C 9015 keinen
linearen Verlauf hat, ergeben sich Unterschiede im Plus-und Minus-®itch-
bereich von ca. 0.4 bis 05 %. An R 9030 ergeben sich im Mittei die
Werte +5,90 % und — 5,45 %. Diese Differenz darf nicht mit Hilfe der
Drehzahiregler R 9023 und R 9028 ausgeglichen werden.

Die anderen Schaltungen dirfen nur mit dem dafiir entwicketten Prif-
gerdt abgeglichen werden, da sonst die Funktionssicherheit pestrt wirde.

Alignment Instructions

Display

To align the LED scale use a1 : 22 : 1 voltage divider (see figure 1)
which should be connected to the display compenent E. This voltage
divider is for voltages between +12 V and OV, Bring R 9309 and R 9311
controls into center position, Sat S 1.7 switch (voltage divider) to G5 V
using R 9309 adjust LED —5 % and —6 % for same brightness. Switch
S 1.1 to 11.5 V position using R 9311 adjust LEO +5 % and +6 % for
sarne brightness,

Since the sawtooth voltage at the C 9015 reference capacitos is not
linear, there are differences in the plus and minus pitch range of apprax.
0.4 10 05 %. At R 9030 this results in average values of + 590 % and
— 545 %. This difference shall not be corrected by speed controls
R 9023 and R 9028,

The other circuits should anly be aligned by test equipment especially
developped for this purpose. The use of other equipment would seriously
interfere with the safe function of the unit,

Instructions d'ajustage

Display

Un diviseur de tension 1 ;22 : 1 {voir fig. 1} couplé au sous-ensemble
display E est nécessalre pour I'ajustage de I"échelle des diodes lumineuses,
Ce diviseur de tension se trouve entre + 12 V et 0 V. Amener les régu-
lateurs R 9309 et R 9311 position centrale. Positicnner fe sélecteur
S 1.1 {diviseur de tension} sur 05 V, régler les diodes lumineuses
-5 % et -6 % sur la méme luminosité 3 I'aide de R 9309, Positionner
le silecteur S 1.1 sur 11,5 V, régler les diodes luminauses + 5 % et
+ 6 % sur la méme luminosité & I'side de R 8311.

Etant donné que la courbe de Ja tension en dents de scie sur le conden-
sateur de référence C 9015 n'est pas lindaire, il en résulte des cifférences
d'erv. 0,4 3 0,5 % dans la plage des niveaux plus et mains. Les valeurs
+ 590 % et --5,45 % sont obtenues en moyenne sur R 9030. Cette
différence ne doit pas &tre compensée au moyen des régulateurs de
vitesse R 9023 et R 9028,

Les autres montages ne doivent étre ajustés qu'a 'aide des apparsils de
cantrdle prévus a cet effet afin de ne pas entraver I'aptitude au fonction-
nement'fiable.

zur Displayplatte
vttty
| : E1{(+12V)
]

1
:100 :
: 115Ve+5is6% |
t |
! !
f I
|
12,2k : ES
|
1
l .
! 05Ve—-5/—6%
+100
]
'
b m e ————— < E5(GND)

ME 930 @ — Diagramme n= 33

3
]
i



IC-Blockdiagramm / IC-blog diagram / Schéma de bloc IC

E c
e g )
BC 2327/16
ED 137 2N 5305 BC 338/25
92 PU 45 ¢ 338
BC 558
1 1 1 % 1 8
L 5
7 8
8 %
32
1 MC 14040 NS 4069 RC 4558
12 MC 14569 MC 14069
Lt MC 14013
12 4 MC 14066
MG 7812
V+ Q2 4Gz €K2 R2 D2 §2
¥ 12 1 »n 5 g
V+
8 7 & 5
D-FF1 MC 14013 D~FE2
71 RC 4558
4L E E I
G1 Q1 €K1 R1 D1 §1 gD Ve
Voo Qi Q10 Qa  QoAESET ¢1 0y Ve v
B 15 14 13 12 11 10 o 14 13 12 1 1w 3 8 AR ST B TS S s
MC 14040
MC 14069
12.STAGE RIPFLE CARRY ———— A T
BINARY COUNTERS

1T 2 3 4 & 8 7 8 1 2 3 a s sc?w
Q12 G 05 Q7 Qi Q3 Q2 GND GND

01 D2 D3 D4 CTLACTLR D1 DZ D3 D4
3 [ -] 6 2 10 n

<
+

UpH Ut Ugtab Uref. max Uref. min Ust,
12 13 14 16 15 B3 12 1

e

'S

*©
I [
BINARY TO JOHNSON W
ENCODER 5
y y 1 b,
BCO/BINARY 4-BIT BCD/BINARY
HIGHSPEED  [——wc i Boemary L 1 | | LH b~
JOHNSON COUNTER o NCHRONQUS COUNTER, Q—r L@
Me 14569 Junction |
PRESET ENABLE
| " uNcLUDING EARLY 2£R0 DETECTION) _.__'-'M_E’O ?I‘ ZJ k "{ K
7 9 3 1 i % R 3 3 z 5 & 7 i
€ cF GND v+ PE @ GND

i1}



Schaithild / Wiring diagram / Schéma de élactrique

R o H
. psery, | L . 3
1M AL X o e T
. N & 21 ) - a2 M2
= - B 14 *
o | !
R E I
e o g
L ;"
F
1
\ -
0
L
1
i
E
1 :
! (
C D3] g
ghas 17 N 400t L
T | . 2105 | 99T
Y : a1t
. T 5 -
€ 267 1 [ A2 2
n i S E
H .
’ Jing iC 9301 .
| I ¢ UAA 170 (5N 20740 N} . 3 N
- & s12 ’ ; : B I S
© 8205
. 4] . e i COX 134
B T el i 51’ CILCIE i
L2 o J)‘n |2 Quartz
] A G . <
A1
aar
Nd14a
1]
JJ J) ~J
E
o X ' o <
2k © 9108
: - LSRN - & 19301 T4
1115 v~ : §8 S8 Brhanc
. . . . .
. . - A 5 . .
B0mAa T ™ 3] —6% . ~1% 0 +1% +6 %
. ; START - COMTINUGUS STOP LIET
(200mA T PLAY oo HIET LED . _ -
. ‘ 185
Q 801 28,40 kiiz bai "33 Tl J[—“ - v .
608 MHz yauli 28,40 kH bei 45" : ] : 2“1 3 1
i I # 8002 I l ] i i [AEGTE] R 129‘ ‘ 19 ;Ecg?zglz u[ 2I:}—--u- Cta
[ 7w s . . i 1 : T : '
P = [jhae ik . 1 : Bios i A 8012 BaTa i Ao 228 z L G
| - A8004 i7k i TTE so04 Bk 1.2k L oy gz =F
! T 0m 5 ic8a01 3 4k 15 B . i 3 ?Pgn?%_l_u’ - ' P
acbaac M 14569 BS —F— 4 ‘ R cn
-[ e ’ 12 1. - . AN s, . . P . B o 18
loseeon: I I : 15002 ! B
C 4002 S IE [0 02 1 |2 13 =] MC 14340 BOP 1} % D‘] B 138/25 h J| ] K] —o—0; Lrmeipm [1 15
230 W - g cemg - Rmod 4o a0ty ; z bl 13
, - . 5w oA S B oz .
1115 Y~ . . "c TH 4148 | EOX 20 CoX 1341
E?ggqa EO%O’?& (5 - . : J. T o . -'99005“1 o A " 5TROB. 1 J\Q—_O_.D “
— : ICBOoSE - . T
i : it [,]3?7'6 ¢ ¢
5 1 Power f Power Switch 5 1 3 I H i i EDS
- - - - . O—0—n . a10
5 2 Piteh/Puch Switch Rooor ; ' : 1 3 B
3 Dauerspiel { Continusus Play Switeh Hochi, 15 e
. Synchronisierung
§ 4 Sturt{ Start Switch JLe| I, 13 | 14 ] 10 . ]
7| wcdmoBor
5 5 Stopp/S5top Switch D
it 5006
§ & Lift/ Lift Switch -L‘E. T MC 14069
% 7 Drehzahlwihier / Speed Selector Switch l ?0%’& \ _fz?foe
5 B Stan [Tonare) f Start Switch [Tanearm)
5 9 Dauerspisl [ Auta repeal button ¢ S_? []
el [D 5005
510 LED Lift/ LED Lift Bwitch 1 AL 1N 4148 [
1 "
5 11 Stummschatter f Muting Switch oy CR o m_c-_:_‘ .
WS 14065 bt - BB
§12 Salbsthaltzkontsht M 1/ SelfStarting Gontagt M 1 wl L8 I BV
3
M 1 Magest Start f Solenaid Start I '
’ " i i 1] :
™ M 2 Magnet Lift/ Solenaid Lite EH - 1 L } ‘.
3
gg_‘ Lr Anlauf - Low, ]n
- BC Spisl — High
O 14 Signal komm: von Baugrepps O, 13 T JIE [_’ ?331
Anschlultpunkt 14 .
. - c
Signat comes fram board C, Pin 14 2010
4f .
O—m D14 Signsl gel nach Baugruppa D, 1 Sample-switch
Ansehilud punki 14 L [samp __‘_}
Siynal goes to board L, Pin 14
303 I P ;Anlzu;f -14ay
2,7 . ligeiel —12mv
16 Ez EV
L O3 -6 T O i1
W bEW Me‘alliclhich! Hysteratic n33 - Low JEHOL. o NI A &
Meatul Falm _—— - — .
QXY , métaligue 045 —Hygh I T .
L] Quaiiz - Piich
. - s [
BRUCKE FUR DREHZAHLABGLEICH o I S -
CONNECTEON FOR ADJUSTEMENT TO SFEED | a ' s7z2
COMNEXION POUR REGLER LA VITESSE Ek I—O—__
, Fiteh Ausgabe YMart 1981
[ ¥
Spinl aav ' l Ardmusgen vurhalt 80
L{L:EE". -0 J ":.:.V) G ANleration resarmd
T Sous réserve de rodf | <ations
11



Stummschaltung
A Muting cireuit L
Caommutation silencieuse

Endstufe
B Ouputstage L
Etage de final

iC §201

R 9205 &R 9203 - ~Ta205 S
S o 30;34___}-—0 o z
L R9204 5 R92A2 oc-{g]ii "
Verteilerplatte
c Distributor board B
Plague de distribution
_ D 9454
T o |0 C 852
) . DU
o e
o EAK 270
w © o
&S S D nv
= = 20"
09452
o—{}—-C9i51
09451
]

L = Leiterseite { Wiring side / Cate de conducteur

B = austick ungsseite / Equipment side / Cate de composants

Motorelektronik
Motar electronic

Electronigque du moteur

‘Oi O>§0 0

%&;
= ”’?c 900‘4

260

-

10060

a 9 O 0 0 0o O

)

O 0 O 00 O o _of. .

R 3004

0 0 0 b 0 G 6 ©
Y Ks002

L}
o 92 0 0 0 O O 0

LD
o
8

:

!?9039

Display
Display
Plague de diodes iumineusa

L

70e60
¥

SOE6 N
izos&aa

LOE6

S0E6Q
¥

DEs Y

£0L6d
¥

8026

LOEGY

L0860




Mechanischer Teil

Allgemasines

Die angefiihrien Pasitions-Nummern beziehen sich auf die nachstehenden
Ersatzteillisten und Explosionszeichnungen,

Die Abdeckhaube 152t sich problemlos vonden Scharmierlaschen abziehen.

Boden

Der Boden 57 ist mit vier Linsenblechschrauben {Bodenbefestigungssatz
55) im Gehduse befestigt. Ferner ist der Boden mit den beiden Linsen-
schrauben 20 an den Federaufhdngungen befestigt,

Frontblende

Die Frontblende 63 ist mit zwei Sechskantmuttern 120 am Gehduse
95 befestigt.

Ausbau des Chassis kpl.

Zum Ausbau des Chassis kpl. empfiahit es sich wie folgt vorzugehen:

1) Abdeckhaube 95 und Plattenteller 92 abnehmen, Boden 67 entfernen.

2} Die drei Zylinderschrauben 93 ldsen, Abdeckung 94 anheben und
50 drehen, dai} sie Gber das Tonarmlager'und den Tonarm abgenom-
men werden kann, )

-Verbindungsleitungen 15sen, Tonarm 135 einschwenken, Chassis
festhalten.
Die vier Zylinderschrauben 19 der Federaufhangung 17 entfernen
und Chassis vorn Gehause 85 abnehmen,

3]

=

4

—

Tonarm und Tonarmiagerung

Auzhavu des Tonarmes kpl. mit Tonarmiagerung

Es empfiehit sich wie folgt vorzugehen;

1. Drehknopf 129 in NullStellung bringen. Tonarm 135
riege!n. Spannschraube 132 jdsen und Gewicht 166 entfernen.

2. 2ylinderschraube 84 und Sechskantmutter 83 lbsen, Tonarmlei-
tungen am Kurzschiieier 113 abléten,

3, Zylinderschraube 181 |dsen und Mikroschatter und
176 zur Seite legen,

4, Sicherungsscheibe 156 entfernen, Haupthebel 154 mit Lagerbock
163 abnehmen, -

5. Die beiden Sechskantmuttern 110 und Senkschraube 113 sowie
Gegenlager 112 abnehmen,

6. Tonarm 235 festhalten. Zylinderschraube 73 15sen und Tonarm kpl,
mit Tonarmlagerung abnehmen.

Beim Montieren des Tonarmes ist in umgekehrter Reibenfolige zu ver-
fahren, Jedoch ist darauf zu achten, dal die Gewindestifte richtig in
den Lagern sitzen,

ver-

Schaltertrager

Ausbau des Tonarmes aus dem Lagerrahmen

1} Gewicht 168 entfernen. Spannschraube 132 herausdrehen und Oreh-
knapf 129 in Nullstellung bringen.

Zylinderschraube 117, Sechskantmutter 83 und Abschirmblech 116
entfernen. Tonarmlejtungen am KurzschlieRer 77 abliten.
Linsensenkschraube 130 Igsen. Drehknopf 129, Scheibe 128 und
Zeiger 127 abnehmen,

4] Kontermutter 98 16sen und Gewindestift 89 herausdreben,

5} Tonarm 135 abnehmen.

Einbau erfolgt in umgekehrter Reihenfolge.

2)
3

Austausch des Fedarhauses

Tonarm 135 aus Lagerrahmen 126 wie oben beschrieben ausbauen.
Federhaus 133 abnehmen.

15

Baim Einbau darauf achten, dal die Spiralfeder in die Aussparung ¢
Lagers 134 einrastet. Tonarem wieder montieran, Das Lagerspiel v
nachstehend beschrieben einstellen,

Einstellen der Tonarmlager

Der Tonarm ist dazu exakt auszubalancieren, Beide Lager erforde
kleines, gerade noch splrbares Spiel. Das Horizontal-Tonarmlager
richtig eingestellt, wenn bei Antiskating-Einstetlung 05" der Tonat
ohne Hemmungen von innen nach aulen gleitet, Das Vertikal-Tonan
lager ist richtig eingestellt, wenn nach Antippen der Tonarm sich fi
einpendelt. Das Spiel des Horizontal-Tonarmlagers wird mit dem ¢
windestift 99 und der Kontermutter 98 eingestellt. Das Spiel des Vi
tikal-Tonarmlagers mit Gewindestift 138 eingestelit.

KutzschlieRer

Justagepunkt

tn Nulistellung des Kurvenrades soll zwischen Kontaktfedern F ur
KurzschluBleisten L ein Kontaktabstand von ca. 0.5 mm vorhand
sein. Erforderlichenfalls KurzschluBleisten biegen. Kontaktfeder n
geeignetem Pilegemittel einspriihen.

Tonarmiift

Justagepunkt

Die Lifthdhe 15t sich durch Drehen der Stellschravbe 87 verdnde:
Der Abstand zwischen Schallplatte und Abtastnadel solf ca. 5 m
betragen.

Austausch der Liftplatte

1) Tonarm 135 verriegeln, Zylinderschraube 18116sen und Mikrosch
ter 34 und Schialtertriger 176 abnehmen, Sicterungsscheiba 155 €
fernen und Haupthebel 154 mit Lagerbock atnghmen,

2} Sicherungsscheibe 180 und Kurvenscheibe 179 entfernen, Zylind
schrauben 108 entfernen. Gleitbuchse 171 abrehrryen und Stellschic
170 anheben_ daB die Liftplatte 105 ausgetauscht werden kann,

Beim Einbau ist in umgekehrter Reihenfolge voraugehen.

Justagepunkte

Aufsetzpunkt

Durch Drehen des auf der Steliplatte 71 befindichern Exzenters E ka
der Aufsetzpunk? justiert werden, Die Einstellung ist sowohl fir 17 ¢
wie auch fir 30 cm-Schallpiatten wirksam,

Abstellpunkt

Der Abstellpunkt kann im Abstellbereich {Platkn ¢ 116 bis 122 m
verdndert werden, )

Plattenteller 92 abnehmen. Durch die im Kumenrad 30 befindlic
Bohrung kann mit einem Schraubenzieher die Abstelischiene 150
stiert werden

Natzichaerung

Nach Entfernen des Plattentellers 92 kann die Abcleckung des Sic
rungshalters 27 abgeschraubt werden und die Metzsicherung 28 au:
wechselt werden.



Mechanical Part

General

The following item numbers refer to the spare part lists and exploded
drawings. .

The cover can simply be removed by the hinged clips,

Bass

The base 57 is secured by four cheesehead self-tapping screws {base set
65} and with two screws 20 on the spring cluster.

Front screen

The front streen 63 is secured to the casing 95 by two hexagonal nuts
- 120,

Ramoving the chassis complate

It is recommended to follow the following instructions when dismantling
the chassis complete:

1} Remowve cover 85 and turntable 92. Remove the base 57.

2) Loosen the three cheesehead screws 93. Lift cover 94 and turn so
that it can be removed over the tonearm bearing and tonearm,

3) Swing intonearm 135 and solder connecting feads. Hold chassis.

4} Remove the four cheesghead screws 19 of the spring cluster 17 and
femuove chassis from the casing 95.

Tonearm and tonearm bearings

Dismanting tonearm complete with tohearm bearings

It is recommended to follow the following order:

1} Set the control knob 129 in the zero position, Lock the tonearm

13S. Loosen the tensioning screw 132 and remove the weight 156,

Remove the cheesehead screw 84, the hex nut B3 and cover plate 82.

Unsolder the tonearm leads at the shortout 77,

Remove the machine screw 181, the micro switch and the switch

support 176.

Remave lock washer 155, Lift off main lever 154 and bearing sup-

port 183,

8) Remowvethe hex nut 110 and the sunk screw 113 and counter bearing
112. )

€) Hold tonearm. Remove the maching screw 73 and lift Tonearm cpl.

Reverse this procedure when reassebling, Please bear inmind the threshold

pins is correctly positioned in the ball bearings,

2

3

k=1

4}

n
2
3

maoving the t m fram the bearing case

Remove weight 166, Screw out tensioning screw 132 and set the
control knob $29 in the zero position,

Remove cheesehead screw 84 and cover plate 82. Unsolder the tone-
arm leads at the shortout 77.

Loosen the countersunk screw 130, Remove control knob 129
washer 128 and pointer 127.

4) Loosen lack nut 98 and remove setscrew 99.

5} Remowve tonearm 135.

Assemmbly should be carried out in the reverse order.

Changing the speing casing
Hemove the tonearm 135 from its bearings 126 foll owing the instructions
described above. Remowe the spring case 133,

Special attention must be paid 1o ensure that the coil spring fits in the
recess of the bearing 134. Aeassemble the tonearm, Adjust the bearing
play as described below,

Adjustment of tonaarm bearings

The tonearm must be exactly balanced, Both bearings should have very
little or no play. The horizontal tonearm bearing is correctly adjusted
when the tonearm can freely slide in and out with the antiskating adjust-
ment set to "0.5" The vertical tonearm bearing is correctly adjusted
when the tonearm freely swings back into position after being tapped.
The play in the horizontal tonearm bearing can be adjusted with the
setscrew 99 and the counter nut 98, The play in the vertical tonearm
bearing can be adjusted with the setscrew 118 and the counter nut 119,

Shortout

Adjustrment point

When the curve wheel is in the zero position the contact distance
between the contact spring F and shortout contact L should be 0.5 mm.,
If necessary, bend shortout contact slightly and clean the contact spring
with a suitable cleaning agent, :

Tonearm lift

Adjustment point
The tonearm lift height can be adjusted by means of the adjustment
screw and should be between ca, 5 mm,

Changing the lift board

1) Lock tonearm 135 in position. Remeve the screw 181, the micro-
switch 34 and the switch support 176. Remove the lock washer 155.
Lift off main lever 154 with bearing support 153.

2) Remove the lock washer 180 and the cam wheel 179, Loosen the
maching screw 108. Remove the slide bush 171, lift the adjusting
bar 170 and remove the lift board 106.

Assembly is carried out in the reverse order.

Adjustment points

Set down point

The set down paint of the tonearm can be altered with the ecent ric bolt
E {Adjusting plate 71}, The setting is effective not only for 17 cm but
atso for 30 em records,

Shut-off point

The shut-off point can be varied within the shut-off range (record dia.
116 te 122 mm).

Remove platter 92. Using a screwdriver adjust shut-off rail 350 through
the hale in cam whee! 30, ’

Fuses
After removing the turntable 92 the cover of the fuse switch 27 canbe
removed aflowing access to the fuse 28.




Partie méchanique

Géndralites

Les numéros de position mentionnés se rapportent aux kistes des piéces
détachées et aux vues explosées ci-aprés.
Le couvercle peut étre retiré sans problémes des languettes de charniéres.

Fond

Le fond B7 est vissé avec quatre vis Parker 3 téte bombée {jeu de pidces
de fixation du fond 55) et la vis téte cylindrique 20 sur le suspansion 3
ressort 17.

Panngau frontal

Le panneau frontal 63 est fixé par deux écrous hexagonaux 120 sur le
boitier 95.

Démontaga du chissis cpl.

Pour démonter le chassis cpl., il est conseillé de procéder comme suit:

1) Retrier le couvercle 95 et le plateau 92. Retrier te fond 57.

2} Dessarrer les trois vis & téte cylindrique 93. Soulever le couvercle 94
et le tourner de manidre qu'il puisse &tre retiré au dessus du palier
du bras de lecture.

Dégager les cibles de jonction, faire pivater le bras de lecture 135,
Maintenir le chdssis.

Enlever les quatre vis 3 téte cylindrique 19 de la suspension & ressort
17 et retirer le chdssis du boftier 95.

3

4)

Bras de lecture et suspension

Démontage du bras complet avec 1a suspension

1§ est conseillé de procéder comme suit:

1. Amener le bouton rotatif 129 sur zéro. Verrouiller le bras 135, Des-
serrar la vis de serrage 132 et retirer le poids 166,

2. Enlaver la vis & téte cylindrique 81 et la tdle de blindage 82, Des-
souder les cibles du bras sur le court-Gircuiteur 77.

3. Diévisser le vis cylindrigue 181. Retirer le interrupteur miniature 34
et supparter de commutateur 176.

4. Aetrierle circtip 115. Retrier le levier principal 154 et le support 163,

5. Retrier les écrous six pans 110 et !a vis noyée 113. Retrier le contre-
pafier 112,

6. Maintenir le bras 135, Enlever la vis t8te cylindrique 73. Ratirer e
bras compl. avec la suspension.

Pour le montage du bras, procéder en ordre inverse. Cantrdler toutefois

que la tige filetée 50it bien placée dans (a coussinet & billes.

Démontage du bras du support

1) Retirer le contrepoids 166. Dévisser la vis de serrage 132 et amener
le bouton rotatif 129 sur zéro.

Enlever fa vis 3 téte cylindrique 84 et la 10le de Blindage B2. Des-
souder les cdbles du bras sur le court-circuiteur 77.

Desserrer la vis & téte fraisée bombée 130. Retirer le bauten rotatif
129, la rondelle 128 et I'aiguiile 127,

4} Desserrer le contre-écrou 98 at dévisser la tige filetée 99,

5) Retirer l¢ bras 135,

Pour le montage, procéder en ordre inverse.

21
A

Raemptacement de la cage 2 ressort

Démonter le bras 135 du support 126 comme décrit ¢i-dessus. Retirer
la cage 3 ressort 133,

17

Lors du montage, veiller 3 ce que le ressort spiral s'encliquette da
I'évidement du palier 134. Remonter le bras. Ajuster le jeu du pall
comme décrit ci-aprés.

Réglage du palier du bras

Pour cela, le bras doit &tre équilibré avec exactitude. Les deux palie
dojvent avoir un faible jeu, tout juste perceptible. Le palier horizant
du bras est réglé correctement larsque le bras de lecture glisse libreme
de Vintérieur vers I'extérieur, I'antiskating étant réglé sur 0.5. La pali
vertical du bras est réglé correcternent lorsque e bras s'équilibre «
lui-méme aprés lui avoir donné un petit coup du bout du daigt. Le j¢
du palier horizontal du bras est réglé sur la tige filetée 99 et celui ¢
palier vertical du bras sur 13 tige filetée 118,

Court-circuiteur

Point d'sjustage

La roue & cames étant & la position zéro, il doit y aveir un interval
d'env. 0.5 mimn entre les ressorts de contact F et les barres de cour
gircuit L. §i nécessaire, tordre les barres de court-circuit. Va poriser ¢
produit d'entretien adéquat sur le ressort de contact.

L.éve-bras

Point d'ajustage
En tournant la vis 67, la hauteur de levags peut étre réglée. L'écarteme:
entre le disque et 3 pointe de lecture devrait &tred'environ 5 mm.

Remplacemaent de la plague de levage

1) Vérrouiller 12 bras da lecture 135. Enlever levis 4 cylindrique 18
Retrier le interrupter miniature 34 et supparter de commutate
176. RAetrier (2 rondelte d'arrét 155, Retrier le 1evier principal 1%
et le support 153,

2} Retrier le circlip 180 et le came disque. Devisser le vis cylindrigs
108. Retrier le piéce coulissante 171, Lever i rait le réglage et rer
placement de la plague de levage 105.

Pour le montage. procéder en ordre inverse,

Points d'ajustage

Point de poss du bras
Le paint de pose du bras peut &tre modifie# I'aidedu boulon excentriq
E. Le réglage est valable aussi bien pour les disques de 17 cm que pe
les disques de 30 cm.

Point d’arrét

Le point d'arrét {gamme d'arrét disques de 118 — 122 mm @ pe
étre modifie.,

Enlever le plateau 92, puis ajuster la barre dirré&t 150 quon pe
atteindre par le trou dans la roue & came 30.

Fusible secteur

Aprés avoir enlevé fe plateau 92, il est possible e dévisser ie couvern
du porte-fusible 27 et de remplacer le fusible sectwur 28.



Tonarm und Tonarmiagerung / Tonearm and Tonearm bearings /

Aufsetzpunkt / Set down point / Point de pose du bras
Bras de lecture et suspension

100

126

18 O

119

aa ~.

[ g

73

109
10

Kurzschlieer f Short out / Court circuiteur

Austausch der Liftplatte / Changing the lift board /
Aemplacement da la plaque de levage

155————é1 Netzsicherung / Fuses / Fusible sectaur

18




JAN

Ersatzteile - Replacement parts - Piéces détachée

Art-Nr. [Stck L
Pos. |Part-No[Qty. Bezeichnung Description Désignation
Référ. |ndp.
1266992 1 | Stroboskopgehiuse Strobascope housing Boitier de stroboscope
2 |227470| 1 | Sechskantblechschraube 29x95 | Hex nut screw 29 x95 | Vis 29x95
31266 993| 1 | Diodenplatte Diede plate : Plaque & diode
4 (264 439 1 | Leuchidiode CQX 131l Luminescence dioge CQX 13 Diode lumineuse COX 13 1t
10 |249 667| 1 | Metztrafo kpi. Power transformer cpl, Transformateur secteur cpl.
16 (266 994| 1 | Aufnahmedorn Absorbation bolt cpl. Bouton d'absorbation
16 |268 645| 1 | Federsatz kpi. Spring set Blac de ressorts
17 |265181| 1 | Federaufhdngung kpi. Spring suspension cpl. Suspension A ressort
265182 1 | Federaufhdngung kpl. Spring suspension cal. Suspension & ressort
19 210 518| 4 | Zvylinderschraube M 4 x 12 | Machine screw M4 x12 | Vis cylindrique M4 x12
20 |220 268| 2 | Linsenblechschraube B 39 x 13 | Fillister sunk screw B39x13 | Vis B39x13
221207 301| 1 1 Tonabnehmerkabel kpl. Cynch TA-cable cpl. cinch Cable PU cpl, Cinch
207 303| 1 | Tonabnehmerkabel kpl. DIN TA-<cable epl, DIN Cébie PU ¢pl. BIN
23 |200 426] 1 | Cinchstecker weil? Cinch plug white Fiche Cinch blane
24 1209 425| 1 | Cinchstecker schwarz Cinch plug black Fiche Cinch noire
26 |232995| 1 i Netzkabel USA Power cable USA Céable secteur USA
232996 1 { Netzkabel Europa - Pawer cable Europe Cable secteur Europe
26 (264 426| 1 | Zugentlastungskdrper Relexing place Compensation de Tirage
27 (266 996| 1 | Sicherungshatter {Schraubbefestigung) | Fusa holder Suppoart de fusible
268802 1 | Sicherungshalter [Schnappbefestigung) | Fuse halder Support du fusible
28 209 710| 1 | G-Schmelzeinsatz T 0,080 A (250 V) Fuse T 0.08 A {250 V) Fusible T 0,08 A (250 V)
208 705| 1 | G-Schmelzeinsatz T 0,2 A {115V} Fuse TO2 A {115V} Fusible TQ2 A 1115 v}
29 (210147 1 | Sicherungsscheibe 4 Lock washer 4 Rondsile de securite 4
30 |267 793| 1 | Kurvenrad kpl, Cam wheel cpl. Roue 3 cames cpl.
31 |264 260| 1 | Zugfeder Tension spring Ressort de traction
321263 452| 1 | Schalthebel Switch lever Levier de commutaleur
33(248 521| 1 | Gummitiille Rubber sieeve Daville en caoutchouc
34 [244 883| 1 | Mikroschalter Microswitch interrupteur miniature
35210 146| 1 | Sicherunpsscheiba 3.2 Lock washer 3,2 Rondelle de securite 3,2
36 |263869| 1 | Schaltwinkel Switching angle Equerre de couplage
37 210486 1 | Zylinderschraube M3 x 8 | Machine screw M3 x8 | Vis cylindrique M3x8
381210587 1 | Scheibe 321711 | Washer 3.2/7/1 | Rongelle 3,21
a9 |267 786| 1 | Start-Stop-Magnet kpl. Solenoid start/stop Solénoide start/stop
40 (210 146| 4 | Sicherungsscheibe 32 | Lock washer 3.2 Rondelle de securite 3,2
44 1268 650| 1 | Motorelektronik ME 930 Q | Motorelectronic ME 930 Q | Electronique du motsur ME 9300
451227 467| 3 | Sechskantblechschravbe BZ 29 x 65 | Hex nut screw BZ29x65 | Vis BZ29x6,5
46 [265 843| 1 | Drucktaste 1-fach Push button Interrupteur
D900t 223906 11 1N 4148 1NA4148 1N 4148
bis/tofa
D 9011 |223906| 11 1N 4148 1N 4148 1N 4148
99201 |268818| 1 | Zener ZPD 015 | Zener ZPD 015 | Zener ZPO 015
T 0001244715 4 BC548C BCS48C BC54A8C
T 9002|244 715 4 BCS548C BC S48 C BC 548 C
T9003|231066| 1 BC 338-25 BC 338-25 BC 338-25
T 9004244 715| 4 BC548C BC 548 C BC548C
T 9006240787 2 BC5588B BCE58 B BC 558 B
T 90061240787 2 BC 558 B BCoss 8 BCH58B
TO007|244716| 4 BCH48C BC 548 C BC 548 C
T 9008268 862| 1 BD 522 80 522 80 522
IC 20011267 418 1 | & MC 14569 BCP | & MC 14569 BCP | & MC 1456G BCP
IC Q0021261 873 2 | A MC 14040 BCP { & MC 14040 BCP | A MC 14040 BCP
IC $003[261873| 2 | A MC 14040 BCP | & MC 14040 BCP | & MC 14040 BCP
IC 90041261036 1 | A MC 14013 BCP | & MC 14013 8CP | & MC 14013 BCP
IC 9005236 299 1 RC 4558 RC 4558 RC 4558
IC 90061242 303 1 | A MC 14069 (NS 4069) | A MC 14069 NS 4069) | A W2 1 40689 (NS 4069}
IC 9007]261871| 1 | A MC 14066 BCP | & MC 14066 BCP | A MC 14066 BCP
R902712438617) 2 | Steller 22 k{Ltin | Variable 22 k§2in. | Adjustable 22 xLlin
R9038{243617| 2 | Steller 22 k£2lin | Variable 22 kS2in. | Adjustable 22 x82lin
Q90011245 223| 1 | Quarz 4 608 MHz | Quartz 4,608 MHz | Quartz 4 608 MHz
501268 443 1 | Tellerkonus kpl. Platter cone cpl. Cone du plateau cpl.
51(242 191 1 ] Gewindestift M3 x 3 | Grub screw M 3 x 3 | Tige Filetée M3x3
563|268 652| 1 | Motormechanik kpl. Motor mechanical System cpi. Mecanique du moter ¢ pl.
54(268 651 1 | Endstufe kpl, ME 930 Q | Output stage Etage de final
T 90{:‘1 221831 4 (BD 135) BD 137 {BD 1351 BD 137 {E3D t135) BD 137
bis/10fa
T 9004 (221 831 4 {8D 135) BD 137 (80 135) BO 137 {220 135 8D 137
T2006 (220538 4 BC 327116 BC 327/16 BC 327M1¢
bisftofa
T9008 |220538| 4 BC 327/t6 8C 327/186 BC 327/1¢
(T 9201|247 242] 1 MC 7812CT MC7812CT MC 7812 CT
56|266999 1 | Befestigungssarz kpl. Mounting set ¢pl. Parties de fixaticn il.
571268 0505 1 | Boden Bottom Fond
509|210 516} 3 | Zylinderschraube M 4 x 8 | Machine screw M4 x 8 | Vis cylindrique MaxB
60210 3621 2 | Sechskantmutter M3 Hex nut M3 Ecrou six pans M3
61(268 666] 1 | Halter f. Pitch u. Power Hoider for pitch/power Support de pitch/pover
248 058) 1 | Netzschalter Power swilch - Interrupteur secteur
268 858] 1 | Kondensator 47 oF /250 V/20 % | Capacitor 47 nf /250 V{20 % | Condensateur y7 nFf250V/20%
622670011 1 | Tastensatz kpl. Push bution set cpl. Jeu de la touche cpl .
63|268 668 1 | Frontblende kpi. Fascia cpl. Enjoliveur frontal cf.

A Achtung! Hochempfindliche Bauteila, MOS-Technik / & Delicate component using, MOS technology / AAttention! Pigces tres sensilzs . technique MO
A\ Sicherheitsbauteile nur durch gleichen Typ ersetzen / A\ Interchangeable part oniy replace with same typ / A Elémeant interching €able de sécurit

n'est remplacéoe (2ar leméme typ



Art-Nr. ISt
Pas. |Part-NojQty. Bezeichnung Description Désignation
Référ. |ndp.

67|210525] 1 | Zylinderschraube M 4 = 25 | Machine screw M4 x 25 | Vis eytindrique M4 x25

68210 147] 1 | Sicherungsscheibe 4 Lock washer 4 . RAongelle de securite 4

691210658 1 | Scheibe 6,5/10/1 | Washer .5,1/10/1 | Rondelle 5,1/101

701210 187| 1 | Sicherungsscheibe Lock washer Rondelle de securite

71|263855] 1 | Stellplatte Adiusting piate Plague de réglage

721210 469] 1 | Zvlinderschraube M3 x 3 | Machine screw M3 x 3§ Vis cylindrique M3x3

731210 816| 1 {1 Zylinderschraube M4 x8 | Machine screw M4 x 8] Vis cylindrique M4x8

741267 795] 1 | Verteilerplatta kpl, Distributor plate cpl. PMaque de distribution cpl.
D9451|227344{ 8 1 N 4001 1 N 4001 1N a0
bis/tofd
D9455(227 344| B 1N 4007 1 N 400 1 N 4001
D0456|223906| 3 1M 4348 1N 4148 1 N4d148
D24571(227344] 8 1Naag 1N a148 1N 4148
D458 |227 344| 8 1 N 4001 1 N 4001 1 N 4o
D9459(223006| 3 1 N 4001 1N 4001 1 N 4001
D 94601223 906) 3 VN 4148 TN4148 1NJa148
D9461(227344| 8 1 N 400 1 N 401 1 N 4001
T 9451|260 893 -1 92 FU 45 92 PU 45 92 PU A5

761242 7901 1 | Kontaktarm Contact arm Bras de contact

77[242612] 1 | KurzschiieRer kpl. Muting switch cpl. Court-circuiteur cpl.

78239806 1 | Masseblech Base shet Tdle de masse

791264 437| 1 | Schraubbolzen Screw bolt Bouton filete

80|267 785| 1 | Stummschaltung kpl. Muting circuit cpl. Commutation silencieuss cpl.

800|247 775] 1 | Reed-Relais Reed relais Reed relais
D9401[223906| 3 1N 4148 1N 4148 1M 4148
094021223906| 3 1N 4148 1N 4148 1N 4148
094031223906} 3 1N 4348 1M 4148 1Na148
T 9401240 7871 1 BCcse53 B BC 5588 BC 558 8B
T9402;244715| 1 BC 548 C BCB48C gC548C
1C 9401|260 894 1 LM78L12 LM78 L 12 LM78L12

81264 332] 1 | Abschirmblech Screen plate Tale de blindage

821210 485| 1 | Zylinderschrauba M 3 x 7 | Machine screw M 3 x 7 | Vis cylindrique M3x7

83(210382| 1 | Sechskantmutter M3 Hex nut M3 Ecrou six pans M3

84[210472| 1 | Zylinderschraube M 3 x 4 | Machine screw M3 x4 | Vis cylindrique M3x4

851210517; 3} Zylinderschraube M 4 x 10 | Maching screw M4 x 10 Vis cylindrque Max10

861|266 199| 3 | Scheibe 38/15/1 | Washer 3.8/15/1 | Rondelle 3,8/15M

871267 784| 1 | Lift-Magnet kpl. Solenoid Jift Saléncide lift

ga8l263460| 1 | Schiebar Slide Curseur

g0l220 2121 1 | Zentrierstick Centering piece Centreur

911268 662| 1 i Plattentalierbelag kpl. Platter mat cpl. Tapis du plateau cpl.

092|268 663| 1 | Plattermeller kpl. mit Belag Platter with mat cpl. Plateau cpt.

931264 423| 3 | Innensechskantschraube M3 x5 | Hex nut, socket head screw M3 x5 | Vis creuxse hexagonate M3 x5

94|267 797} 1 | Abdeckung . TA-socke! Cover for Tonearm base Couvercle pour Je support

951268 664 1 | Gehduse kp!. Case cpt. . Ebenisteric cpl.

o5|267 058| 1 ] Abdeckhaube o CH 18 kpl. Cover CH 18 cpl, Couvercite CH 18 cpt.

96 |268 659 1 | Display 741 Q | Display cpi. Plagque de diodes lumineuse
093011223906, 4 1N 3148 1M 4148 184148
09302{265154; 3 LED CQOX 231 rot LED COX 231 red LED CQOX 231 rouge
D09303]265151| 3 LED CQx 231 rot LED CQxX 231 red LED COX 231 rowe
D9304 [265151] 3 LED CQOX 231 row LED CQX 231 red LED CQX 231 rouge
0 9305(264 700! 1 LED COX 131 grin LED COX 131 green LED CQX 131 verte
D9306223906) 4 1N 4148 1N 4148 1 N4148
09307 (223906| 4 1N 4148 1NA4148 1 N4148
Do308 |223906| 4 1N 4148 1N 4148 1 N4148
lI::‘QSE:“:%'J"'Qa 235852| 12 LED 30/ rot LED 30/l rea LED 30/ rouge

isf10
D9321}1235852] 12 LED 3041 rot LED 20/ red LED 30/1 rouge
D9315)235851] 1 LED 37/l grin LED 37/ green LED 37 /i verte
Tg301 (244 715 1 BC S48 C BC 548 C BC 548 C
1IC 9301 [246 629] 1 UAA 170 UAA 170 UAA 170
R93001263586| 1 | Steller 270 §& | Variable 470 §2 | Adjustable 470 2
R9311]{243617| 1 | Steller 22 «£Y | variable 22 xS} | Adjustable 22452

981262 695| 1 | Kontermutter Counter nut Contre ecrou

a9[230 083} 1 | Gewindestift Grob screw Tige filetée

100|268 653| 1 | Rahmen kpl. Frame cpl. Cadre cpl.

101|267 042| 1 | Skatingtrager kpl. Skating bearing cpl. Support du skating cpl.

1021216 472| 1 | Zylinderschraube M3 x 4 | Machine screw M3 x4 | Vis cylindrique M3 x4

103}266 868t 1 | Tonarmsockel Tonearm base Suppert du bras de lecture

104|267 799] 1 | Einbauplatte kel. Mounting plate cpi. Plaque du montage

1081267 788| 1 | Liftplatte kpl. Lift plate cpl. Plague du |4 vebras cpl.

1068216844 1 | Steuerpimpal Guide pin Pilon de Guidage

1071218 318] 1 | Stelthilse Adjusting sleeve Douille de réglage

108|210 472} 2 | Zylinderschraube M 3 x 4 § Machine screw M3 x4 | Vis cylindrique M3x4

109|267 787| 1 | Segment Segment Segrment

110({210 362| 2 | Sechskantmutter M3 Hex nut M3 Ecrou six pans M3

111]264 287} 1 | Abschirmblech Screen plate Tble de blindage

112|242 618] 1 | Gegendager kpl. Counter bearing cpl. Contrepalier

113|203475] 1 { Senkschraube Countersunk screws Vis 3 téte freusée

20




Explosionszeichnung mit Schmieranweisung / Exploded view with lubricating instructions / Vue explosée et lubrification

4
L3
~ Lyal

o

@®
3{,

4
_
_
|

—_— e}

%@JM@ .
, /
W

J
) ' b

A

\3/BP Super viscostatic

WShell Alvania Nr. 2

21



Art-Nr, [Stck
Pos. |Part-No[Qty. Bezeichnung Description Désignation

Référ, [ndp.
114|210 472 2 ]| 2ylinderschraube M 3 x 4 | Machine screw M 3 x4 | Vis cylindrique M3Ixa
115|209357| 1 | Kugel 32 Ball 3.2 Bille 3,2
116 (263 464| 1 | Kugelbett Ball bed Coussinet & billes
117 [210 469] 1 { Zylinderschraybe M 3 x 3 | Machine screw M3 x3 | Vis cylindrique M3x3
116|246 884] 1-1 Kontermutter Counter nut Contre ecrou
119|217 438] 1 | Gewindestift Grub screw - Cheville filetde
120|210 366; 2 | Sechskantmutter M4 Hex nut M4 Ecrou six pans M 4
121 267 801} 1 | Tastentréger kpt. Push button support Touche de support
1221264 323| 1 | Diodenplatte Dicde plate Plaque a diode
1231265131 1 LED / SPG 5531 TRI LED SPG 5531 TRI LED SPG 5531 TRI
125|267 922| 1 | Sechskantblechschraube 29x 6,5 | Hexagon self-tapping screw B 2.9 x 6.5 | Vis a six pans B23x65
126 |268 656G| 1 | Lagerrahimen kpl. Bearing frame Cadre du support
127 |284690| 1 | Zeiger {ndicator Aiquille
128 1261 798| 1 | Scheibe gew. §,2/10 | Washer convex 5.2/10 | Rondelle bombé 5210
1290 |264 380| 1 | Drehknopf Rotary knob Bouton rotatif
130 1264 381| 1 | Linsensenkschraube M 25 x 16 | Raised sunk head screw M25x16 | Vis & tite frausée bombée M25x 16
131 (230 679| 1 | Vierkantmutter Square nut Ecrou 3 carré
132[264 382| 1 | Spannschraube Clamp screw Bouton de serrage
133}249 655| 1 | Federhaus Spring housing Cage & ressort
134 268 654 1 | Lager kpl. Bearing cpl. Cadre de support
135268 661 1 | Tonarm kpl. Tonearm cpl. Bras de lecture
136 j267 051} 1 | Tonarmkopf kpl. Tonearm head cpl. Tate de lecture cpl,
139 )264 699} 1 | Druckfeder Compression spring Ressort de pression
140 {237 498§ 1 | Drehlager RAotary bearing Support rotatif
1451242 208] 1 | Scheibe gew. Washer convex Rondelle bombé
1461244 331| 1 { Skatinghebel Skating tever Levier skating
147|210 146| 1 § Sicherungsscheibe 3.2 Lock washer 3.2 Rondelle de sécurité 3,2
148 201 184| 1 | Einsteltscheibe Adjusting disc Rondelle de réglage
1493218591 1 | Zugfeder Tensian spring Ressort de fraction
150 {263 5805| 1 | Abstellschiene Shut-off bar Barre d'arret
151 201 187 1 | Gleitscheibe Slide washer Rondelle coulissant
152 {210 145| 1 | Sicherungsscheibe 2,3 Lock washer 2.3 Rondslle de sécurité 2.3
153|263 457| 1 | Lagerbock Bearing block Support
154 1267 790| 1 | Haupthebei kpl. Main lever cpl. Levier de Commutation cpl.
165 {210 147 1 | Sicherungsscheibe 4 Lock washer 4 Rondelle de securite 4
156 1267 052| 2 | Scharnier kpl. Hinge cpl. Carniere cpl.
157 {210 686| 2 | Scheibe 3.2/7/0,5 | Washer 3.2/7/0.5 1 Rondelle 32/7/05
158 1210 287| 2 | Linsenblechschraube 28 x 13 | Fillister sunk screw 29x13 ]| Vis 29x13
159 {267 053] 1 | Stitze kpl. Support cpi, Support cpl.
160 §264 400] 1 | Prehknopf Rotary knob Bouton rotatif
161 1264 682 1 | Schaltwinkel kpl. Switching angle Equsrre de couplage cpl.,
162 1264 403! 1 | Schrappfeder Snap spring Ressort & declic
1631110197 1 | Greifring G4x08 | Gripring G 4x08 | Circlip G4x08
164 (210 586] 1 | Scheibe 32 Washer 3.2 Rendelle 3,2
165 [210 362} 1 | Sechskantmutter M3 Hex nut M2 Ecrou six pans M3
166 [267 054F 1 | Gewicht kpl. Weight cpl. Contre-poids cpl.
1701263 510[ 1 | Stellschiene Adjusting bar : Rait de réglage
171|284 271 1 | Gleitbuchse ¢ Silde bush Piece coulissante
172 (210 366] 1 | Sechskantmutter M4 | Hex nut M4 Ecrou six pans M4
1731263459 1 | Rasthebel Rest lever Levier d'arrét
174|265 136} 1 | Zugfeder Tension spring Ressort de fraction
175|264 273F 1 | Druckfeder Compression spring Ressort de pression
176|264 276] 1 | Schattertrédger Switch support Suppon de commutateur
177|264 274} 1 | Boizen Bolt Baulon
178|210 1461 1 | Sicherungsscheibe 3.2 Lock washer 3.2 Rondelle 3,2
179|264 275| 1 | Kurvenscheibe Cam wheel Came disque
180 |210 146} 1 | Sicherungsscheibe Lock washer i Rondelle
181 {210 497} 1 | Zylinderschraube M 2 x 25 | Machine screw M3 %25 | Vis eylindrigue M 3 x25
182 {264 269| 1 | Schnappfeder Snap action spring | Ressort 3 déchic
183 {210 485 1 | Zylinderschraube M 3 x 7 | Machine screw M3 x7 | Vis cylindrique M3x7
184 {263 512 1 | Schaltschiene Switch bar Barre de commutation
185 {263 455| 1 | Drehnhebel Aotary tever Levier rotatif
186 {210 146| 1 | Sicherungsscheibe 32 Lack washer 3.2 Rondelle de securite 32
187 |234 303| 1 | Druckfeder Campression spring Ressort de pression

265 220| 1 | Bedienungsanteitung Operating instruction Made d’emploi

264 358| 1 | Verpackungskarton Shipping carton Carton d'embailage

266 048| 1 | /2 Umristsatz kol. 1/2 inch conversion kit Jeu de transf. 1/2 pouce compl,

Anderungen vorbehal ten!

Alteration reserved!

Sous-réserve de modifications!

Dual Gebriider Steidinger - 7742 St. Georgen/Schwarzwald

820 742-2

153033

Printed in Getmary by Dual



